UGC NET 2021 Political Science Shift 2

Topic:- GP_Set6_A

) The following table embodies the details about the production and profit of two items I and IT
by seven different companies A-G. Cost of the total production of both items together by
zeven companies 13 Rs. 25 crores. Bazed on the data in the table. answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total | Ratio of production between Percent (%) Profit
Production Itemsa I and IT Earned for
Ttems T Ttems 11
A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% 1l 30% 24%
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A 15% 248 25% 20%
B 11% 352 32% 35%
C 22% 4:1 20% 22%
D 08% 257 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% | i 30% 24%

Cost of production of item I by company F 1s what percent (%) of the cost of production of
item II by company D?

(1) 16% (2) 66.67%
(3) 33.33% 4) 20%
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(1) 16% (2) 66.67%
(3) 33.33% (4) 20%

[Question ID = 4899][Question Description = Q01_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19059]
2. 2 [Option ID = 19060]
3. 3 [Option ID = 19061]
4. 4 [Option ID = 19062]

2) The following table embodies the details about the production and profit of two items I and II

by seven different companies A-G. Cost of the total production of both items together by
seven companies 13 Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total | Ratio of production between Percent (%) Profit

Production Items I and I1 Earned for




Ttems T Ttems 1T
A 15% 2.3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% b:3 28% 30%
F 05% 1:4 35% 25%
G 12% 2 30% 24%
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A 15% 2473 25% 20%
B 11% 38 32% 35%
C 22% 4:1 20% 22%
D 08% 816 15% 25%
E 27% 53 28% 30%
F 05% 1:4 35% 25%
G 12% | i 30% 24%

What is the total profit earned by company G for items I and II together?
(1) 78 Lakhs (2)  ¥1.62 crores
(3) {7.8 croves (4) F16.2 Lakhs
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[Question ID = 4900][Question Description = Q02_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19063]
2. 2 [Option ID = 19064]
3. 3 [Option ID = 19065]
4. 4 [Option ID = 19066]

3 The following table embodies the details about the production and profit of two items I and II

by seven different companies A-G. Cost of the total production of both items together by
seven companies 1s Rs. 25 crores. Bazed on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production [tema I and IT Earned for
Items I Items II

A 15% 2:3 25% 20%
B 119 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:h 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% i 30% 24%
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A 15% 248 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 29%
D 08% S 15% 25%
E 27% §:03 28% 30%
F 05% 1:4 35% 25%
G 12% eyl 30% 24%

What is the ratio of the cost of production of item I by company A to the cost of production of
item I by company D?
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[Question ID = 4901][Question Description = Q03_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19067]
2. 2 [Option ID = 19068]
3. 3 [Option ID = 19069]
4. 4 [Option ID = 19070]

4)  The following table embodies the details about the production and profit of two items I and II

by seven different companies A-G. Cost of the total production of both items together by
seven companies 1s Rs. 25 crores. Bazed on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total | Ratio of production between Percent (%) Profit
Production Ttemsz I and IT Earned for
Items I Items II
A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:hH 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% i 30% 24%
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A 15% 255 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% 5:3 28% 309
F 05% 1:4 35% 25%
G 12% | {E 30% 24%

What 1s the sum total of the profit earned by company B on production of item I and the
profit earned by company A on the production of item II?



(1) % 9.78 Crores (2) ¥ 97.8 Lakhs
(3) ¥ 52.8 Lakhs 4) ¥ 30.65 Lakhs
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[Question ID = 4902][Question Description = Q04_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19071]
2. 2 [Option ID = 19072]
3. 3 [Option ID = 19073]
4. 4 [Option ID = 19074]

5 The following table embodies the details about the production and profit of two items I and IT

by seven different companies A-G. Cost of the total production of both items together by
seven companies is Rs. 25 crores. Bazed on the data in the table, answer the guestion

Company — wise Production and profit details

Company | Percentage (%} of Total | Ratio of production between Percent (%) Profit
Production Items I and IT Earned for
Ttems T Ttems 1T
A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% b3 28% 30%
F 05% 1:4 35% 25%
G 12% 10 30% 24%
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A 15% 2423 25% 20%
B 11% 3:2 32% 35%
G 22% 4:1 20% 22%
D 08% 8316 15% 25%
E 27% 5:3 28% 30%
B 05% 1:4 35% 25%
G 12% 132 30% 24%

What iz the sum total of the cost of production of item I by company A and the cost of
production of item II by company B?

(1) 2.6 Crores (2) 26 Lakhs
3 3.35 Crores (4) 33.65 Lakhs
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(1) = 2.6 %% (2) % 26 =@ma
(3) % 3.35 %% (4) % 33.65 @@

[Question ID = 4903][Question Description = Q05_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19075]
2. 2 [Option ID = 19076]
3. 3 [Option ID = 19077]
4. 4 [Option ID = 19078]



Topic:- GP_Set6_B

1) In which level of teaching ‘Seeing of relationship’ is promoted as an objective?
(1) Memory level (2) Understanding level

(3) Reflective level (4) Autonomous development level
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[Question ID = 4904][Question Description = Q06_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19079]
2. 2 [Option ID = 19080]
3. 3 [Option ID = 19081]
4. 4 [Option ID = 19082]

2) Identify from the following spectrum of teaching methods which are called ‘dialogic’.

(A) Team teaching and demonstration.

(B) Tutorials and case studies

(C) Group discussions and interactive presentation
(D)  Simulation and role playing

(E) Computer Alded instruction and Practical tasks

Choose the correct answer from the options given below :
(1) (A) and (C) only (2) (B)and (D) only
(3) (B) and (C) only (4) (D) and (E) only
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[Question ID = 4905][Question Description = Q07_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19083]
2. 2 [Option ID = 19084]
3. 3 [Option ID = 19085]
4. 4 [Option ID = 19086]

3)  Match List I with List IT
List I List IT
Key behaviours contributing to effective Descriptive fetures
teaching

{A) Less=on clarity (I)  Frequency with which
understand and correctly
exercises

(B) Instructional Variety (I) The amount of time students devote 1n

learning in the clazsroom

(C) Engagement in learning process (III) Teacher's flexibility of the delivery
during the presentation of a leszon



(D) Student success rate (IV) Direct, audible oral delivery to
students

Choose the correct answer from the optlons given below :

(1) (A)-IV). (B)-(I). (C)-(ID), (D)-D)
@ (A)-). (B)-AD. (C)-AID). (D)-IV)
(3) (A)-(IT). (B)-(I). (C)-@V), (D)-(IIT)
@) (A)-II). B)-AV). (C)-(D. (D)-AD
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1) (A)-(IV), (B)-(IID), (C)-(ID). (D)-(I)
() (A)-(D. (B)-(ID. (C)-(III). (D)-IV)
(3 (A)-(II), (B)-(I). (C)-(TV). (D)-(IIT)
(4) (A)-(IIT). (B)-(IV). (C)-(I). (D)-(IIy

[Question ID = 4906][Question Description = Q08_GP_22NOV_S2_SHAAN]

all

1. 1 [Option ID = 19087]
2. 2 [Option ID = 19088]
3. 3 [Option ID = 19089]
4. 4 [Option ID = 19090]

4)

=

Given below are two statements :

Statement I: Promoting classroom dialogue that encourages students to examine

alternatives 1s an example of direct instruction.

Statement II : Probing refers to teacher statements that encourage students to elaborate an

answer.

In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement I are true

(2) Both Statement I and Statement IT are false

(3) Statement I 1s true but Statement II 1s falze

(4) Statement I 1= false but Statement II is true
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[Question ID = 4907][Question Description = Q09_GP_22NOV_S2_SHAAN]

1. 1 [Option ID = 19091]
2. 2 [Option ID = 19092]
3. 3 [Option ID = 19093]
4. 4 [Option ID = 19094]

3) Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) :

Reasons (R) :

Innovations in evaluation system have to amply safeguard the reliability

and validity 1ssues of tools used.

The very purpose of evaluation is frustrated. if the evaluation tools do not

meet the requirements of reliability and validity.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(D Both (A) and (R) are correct and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)

(3) (A) 1s correct but (R) 1s not correct

) (A) 15 not correct but (R) 1s correct
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[Question ID = 4908][Question Description = Q10_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19095]
2. 2 [Option ID = 19096]
3. 3 [Option ID = 19097]
4. 4 [Option ID = 19098]

6) In which of the following research methods, process of hypothesis testing optimally

safeguards the role of extraneous variables?

(1) Expost Facto method (2) Experimental method
(3) Hiztorical method (4) Descriptive survey method
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[Question ID = 4909][Question Description = Q11_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19099]
2. 2 [Option ID = 19100]
3. 3 [Option ID = 19101]
4. 4 [Option ID = 19102]

7) Which of the following belong to the category of true experimental design?

(A) One group pre test post test design

(B) Two groups randomized subjects post test only design
(C) Two groups static designs

(D) Randomized groups pre test post test design

(E) One group time series design

Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B)and (C) only
(3) (B) and (D) only (4) (D) and (E) only
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[Question ID = 4910][Question Description = Q12_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19103]
2. 2 [Option ID = 19104]
3. 3 [Option ID = 19105]
4. 4 [Option ID = 19106]

8) Match List I-with List IT

ListI List I1

Steps of rezearch Precautions needed



(A) Problem formulation {I) Appropriateness of techniques used

(B) Hypothesis making (I)  Ensuring internal validity optimally

(C) Research design (ITII) Unambiguous labelling of wvariables
being related

(D) Data analysis (IV) Focused issues In terms evidences

Choose the correct answer from the options given below :

1) (A)-AD. (B)-D). (C)-AV). (D)-(IID)
@ (@-O. (B-AD, (C)-AID. (D)-(IV)
(3)  (A)-AV). (B)-(IID), (C)-(II), (D)-(D)
@  (A)-(ID. B)-AV). (C)-(D), (D)-AD
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(1) (A)-(IT). (B)-(I). (C)-(IV), (D)-(III)
(2) (A)-(I), (B)-(1I). (C)-(1II), (D)-(IV)
3)  (A)-IV). B)-(III). (C)-(II), (D)-(I)
(4)  (A)-IID). (B)-(IV). (C)-(D), (D)-(ID)

[Question ID = 4911][Question Description = Q13_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19107]
2. 2 [Option ID = 19108]
3. 3 [Option ID = 19109]
4. 4 [Option ID = 19110]

9)  Given below are two statements :

Statement I: Use of ICT in research 1s a super imposition which should be discouraged.

Statement II : Research ethics and its ohservance has to be a mandatory requirement.

In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I 1z false but Statement II 1= true
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[Question ID = 4912][Question Description = Q14_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19111]
2. 2 [Option ID = 19112]
3. 3 [Option ID = 19113]
4. 4 [Option ID = 19114]

10) " Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : Format and styles of referencing in a research thesizs are formal
requirements.

Reasons (R) : Formal requirements and their obzervance help promote standardization

and objectivity.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is NOT the correct explanation of (4)
(3) (A) 1s true but (R) 1z false

(4) (A) 1s falze but (R) 1s true
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[Question ID = 4913][Question Description = Q15_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19115]
2. 2 [Option ID = 19116]
3. 3 [Option ID = 19117]
4. 4 [Option ID = 19118]



") When the attitude of the communication towards self is positive but towards others it 1s

negative, the communicator is said to be

(1) Self confident (2) Lacking in self confidence and
authenticity
(3) Self-conceited (4) Communicating without confidence and

without optimism
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[Question ID = 4914][Question Description = Q16_GP_22NOV_S2_SHAAN]

1. 1 [Option ID = 19119]
2. 2 [Option ID = 19120]
3. 3 [Option ID = 19121]
4. 4 [Option ID = 19122]
12)  If the action desived in the message is satisfactorily performed or the information is
faithfully received. it is said that,
(1) Communication loop has been closed (2) Communication has just begun
(3) Communication is successful (4) Communication process 1s smooth
= . - c - - r 3 ) - r fal ™ o W, R,
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[Question ID = 4915][Question Description = Q17_GP_22NOV_S2_SHAAN]
1 [Option ID = 19123]
2 [Option ID = 19124]
3 [Option ID = 19125]
4 [Option ID = 19126]
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3) Given below are two statements :

Statement I: Soclety plays a key part in the shaping of communication process.

Statement II : Communication 1s concerned with the production, distribution and formation
of public knowledge in soclety.

In the light of the above statements. choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement II iz correct
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[Question ID = 4916][Question Description = Q18_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19127]
2. 2 [Option ID = 19128]
3. 3 [Option ID = 19129]
4. 4 [Option ID = 19130]

14) ‘Many Voices, one world : Communication and Society :

Today and Tomorrow (UNESCO), known as the MacBride commission, is about:
(A) The needs of developing countries

(B) Industrial growth

(C) Dizarmament and world peace

(D) Balance information flow

(E) International understanding

Choose the correct answer from the options given below :

& (A). (D). (E) only (2)  (A), (B), and (C) only

(3) (A (0). and (D) only (4) (A). (B). and (D) only
Afeafraf we fava v #@aE vd gue 9 0w (FR), uitg fweres FHwE, ek e E 27
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[Question ID = 4917][Question Description = Q19_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19131]
2. 2 [Option ID = 19132]
3. 3 [Option ID = 19133]
4. 4 [Option ID = 19134]

13) Given below are two statements : One i1s labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A) : Those who receive the message and get themselves influenced by them in
the process, are designated as audience.
Reasonsz (R) : An individual or many., who listen. watch or read the messages are called

audience.



In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) iz NOT the correct explanation of (A)
(3 (A) 1= correct but (R) is not correct

(4 (A) 1s not correct but (R) 1s correct

Hr= 21wy T2 7w ¥ ;v STy (Assertion A)F Ed H fafma 2 & T 9% F0 (Reason R) &

=9 5
stfirra (A) A TR THIFE W & S o9 Wi ° 99 UeiEd w9 8, 39 amr Hfee
AT |

I FUE T AT 8, A9 F  FEeT ¥ | w9 39T I w1 =99 Fie

(1) (A 3 (R) 31 @@ 2 3fi (R). (A) 1 w8l = 3 |

) (A) R (R) F9 =F S R). (A) F T e a8 2
3 (M) T 2 SR (R) w2

@) (AT TE 2 = (R) TE R

[Question ID = 4918][Question Description = Q20_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19135]
2. 2 [Option ID = 19136]
3. 3 [Option ID = 19137]
4. 4 [Option ID = 19138]

16) A cum of money at compound interest doubles itself in 15 vears. It will become eight times

of 1tzelf in :
() 45 yvears (2) 48 years
(3) 54 years (4) 60 years

= fafrad g §t ofe 15 auf % wshafg = & g & ot 21| 97 3194 99 ¥ oS T e adt | |
E i

(1) 45=mid (2) 48=id
(3)  H4=mid (4) 60=9 |

[Question ID = 4919][Question Description = Q21_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19139]
2. 2 [Option ID = 19140]
3. 3 [Option ID = 19141]
4. 4 [Option ID = 19142]

17) The average age of three boys 12 25 years and thelr ages are in the proportion 3 : 5 : 7, the

age of the youngest boy is :
(1) 9 vears (2) 15 years
(3) 18 vears (4) 21 years

o T, e e sy 1) N S T . R DR e DO - . L S, 1, S o, M S ——



(1) 9 | (2) 1549
(3 18 31 (4) 2149

[Question ID = 4920][Question Description = Q22_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19143]
2. 2 [Option ID = 19144]
3. 3 [Option ID = 19145]
4. 4 [Option ID = 19146]

18) With an average speed of 50 km/hr, a train reaches its destination in time. If it goes with an
average speed of 40 km/hr, it 1= late by 24 minutes. The total distance travelled 1s :

(1) 30 km (2) 40 km

(3) 60 km 4) B0km

o oSt 50 TR e i itEs 1fa @ AT |em T W s 9T ° UEeAl 2 | 3 A7 40 R T

=1 71fs & ==t & 91 77 24 o2 <2 2 Sl 2 | OS] F o PR o w6 w2 7
(1) 30 fw.H. (2) 40 ..
(3) 60 .11, (4) 80 Fm.d.

[Question ID = 4921][Question Description = Q23_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19147]
2. 2 [Option ID = 19148]
3. 3 [Option ID = 19149]
4. 4 [Option ID = 19150]

19) " 1f the word EARTH be witten as QPMZS 1in coded form. how can HEART be written following

the same coding.

(1) SQPZM (2) SQMPZ
(3) SPQZM (4) SQPMZ

#W EARTH wsg =1 -9 § QPMZS feran man =1 &t 36 #z-wmn § HEART =1 % fordn ?

(1) SQPZM (2) SQMPZ
(3) SPQZM (4) SQPMZ

[Question ID = 4922][Question Description = Q24_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19151]
2. 2 [Option ID = 19152]
3. 3 [Option ID = 19153]
4. 4 [Option ID = 19154]

20) Complete the number series :
0, 6, 24, 60, 120, ......
(1) 180 (2) 300
(3) 210 (4) 240
TEAT-FH T
0. 6. 24, 60, 120, ......
(1) 180 (2) 300
(3) 210 4y 240

[Question ID = 4923][Question Description = Q25_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19155]



2. 2 [Option ID = 19156]
3. 3 [Option ID = 19157]
4. 4 [Option ID = 19158]

21) Sagarika 1s never seen reading any Mathematics book during the day time. Yet she scored

08% marks in Mathematics. Therefore she must be studyving during the night. “Which of
following means of knowledge 1s used in this argument?

(1) Upamana (analogy) (2) Pratyaksa (Perception)

(3) Anumana (inference) (4) Arthapatti (Implication)

“fe % wHg 9 @R i E f T Ted 5 e off T8 2 T, qunfe s6 98% 3% WTH BT A
=7 T | T vt &t | 5\ g § i A e e B 7

(1) FUHH (2) 7=y

(3)  wEA (4) weat

[Question ID = 4924][Question Description = Q26_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19159]
2. 2 [Option ID = 19160]
3. 3 [Option ID = 19161]
4. 4 [Option ID = 19162]

22) Which of the following Indian thought systems holds that universal relation in case of
inference (anumana) cannot be determined because there iz always room for doubt about the
unobserved cases?

(1) Buddhists (2) Nalyvayvikas
(3) Mimamsa (4) Lokayala

fefafas 2 @ #9 of 9ndm 29im ugfs 72 edt @ B agEe @ et aEdm g faifa 1@ e
ST Tkl 115 AATEA R Al § HiraaT i TASE g S Edl 8 7

(1) sig (2) H=mrE=

-

(3)  wmwEn (4) @rEFEd

[Question ID = 4925][Question Description = Q27_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19163]
2. 2 [Option ID = 19164]
3. 3 [Option ID = 19165]
4. 4 [Option ID = 19166]

23)  The statement ‘a sense organ that perceives a property alzo perceives the “propertvness” as

well as the absence of that property’ can be attributed to which of the following schools of
classical Indian Philosophy?

(1) Lokayala / Carvaka (2) Nyaya

(3 Buddhizm (4) Uttara mimarmsza

HuF - S sfeEm ned @ wenw wdl # 9 sfEa sueht quiafdar a9 suh srara w1 aege st 2
0 U YA 299 & R geiEE O Sign S gl 2
(1)  =rhme /= (2) =
(3 =g (4) =vR HimrEn
[Question ID = 4926][Question Description = Q28_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19167]
2. 2 [Option ID = 19168]

3. 3 [Option ID = 19169]
4. 4 [Option ID = 19170]

24) Which fallacy 1s committed in the following statement?

*“Wobody has even proved that immoral behaviour bv elected officiale erodes public moralitv.



Therefore we must conclude that such behavior does not erode public morality”.

(1 Appeal to Force (2) Appeal to Pity

(3) Appeal to Ignorance (4) Appeal to the People
SAUTeTEd Fo § H A1 Gealaw @F B 27 (HE F vE weie T4 e w6 99 e wataest
HATGF HIER FA-AfaHal 1 &0 HEl ¢ HeaEd 59 39 [N U UgEd & (6 36 E i SHaEr wh-

(1) =9 = = (2) =1 9@ F =
(3)  A9H =% 9ed (4) SHiEd  Fod

[Question ID = 4927][Question Description = Q29_GP_22NOV_S2_SHAAN]
1 [Option ID = 19171]
2 [Option ID = 19172]
3 [Option ID = 19173]
. 4 [Option ID = 19174]

A w N =

25) Given below are two statements :

Statement A: “All physicians whose licenses have been revoked are physicians ineligible to
practize”,

Statement B: “All physicans eligible to practise are physicians whose licenses are intail”.

Which of the following is true with regard to above two statements?

(1) Statement B is contrapositive of the statement A and these statements are not
logically equivalent.

(2) Statement B 1s contrapositive of the statement A and these two statements are
logically equivalent.

(3 Statement B 1s converse of the statement A and these two statements are not
logically equivalent.

(4) Statement B is obverse of the statement A and these two statements are not logically
equivalent.

For ‘31 A oft Taferens faaeft smmfaal feg = v £ 3 fafrem =+ 29 s #7

#oF w o ol fafeeas w1 fafwo = % fo gira 2 53t smmiaat s 2|

=7 21 F9F1 % Teed § eAifEa § F19 o %e Tem B |

(1)  =F 9, F9F 31 F fqaiEfad €9 & 9971 91 $YF Ti6F 32 o TAded T4 § |
(2) YA 9, FUE H B AOREGT TG 2 a9 A BT AT 38 HHGed |
(8) U A, FYF ¥ F Al TG 2 qUT IE FUF AAHF 32 H TGS T4l 7 |
(4) Y W, WYF T F UqUREtad 9 2 YT G YA qiide 38 o FAged 6§ |

[Question ID = 4928][Question Description = Q30_GP_22NOV_S2_SHAAN]
1 [Option ID = 19175]
2 [Option ID = 19176]
3 [Option ID = 19177]
4 [Option ID = 19178]

A W N -

26) With respect to Computer Virus, which one of the following statements is True?
(1) It 15 a kind of physical impurity which when present in the CPU causes it to

malfunction.

(2) It 1s a computer program that infects a computer and thereby sends unsolicited bulk
email.

(3) It 1= a computer program which coples itself to infect a computer without the
permission / knowledge of the user.

(4) It 1s an accumulation of dust on the hard disk causing it to malfunction.

FIL TTE F To-Y T HfeiiEd 8§ FF o Ry T 27
(1) == T% TR Fi o 300G 2 oFw dodg, J w2 A Tead i e 2
(2)  TE UF TR TN 2 A FOH R UIET HA 2 S 50 TEE SEEes 90k 0 Oa Al 2 |



HFEE] F AT 3H U9IET FA E

(4) I HAe gl i THEZ 7 A FE-T56h W wE il 2 e Fege i e S 6 g 2 |

[Question ID = 4929][Question Description = Q31_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19179]
2. 2 [Option ID = 19180]
3. 3 [Option ID = 19181]
4. 4 [Option ID = 19182]

27) Identify the correct order in which the following computer memories are ranked from largest

to smallest in terms of storage capacity
(A) Cache

(B) RAM

(C)  Hard Disk

(D) Register

Choose the correct answer from the options given below :
(1) (C). (B). (D), (A) @) (D), A, (B). (C)

(3) (B). (D). (C). (&) 4y (C). (B), (A). (D

Tfq-wosT i &Ha Fi 52 ° Tew 95 I T 312 Fg AN F Tel i TmaE |

(A)  HE

B) .

(©) =TS =
(D) T

419 f2v 7o faweat 9 0 OF I w1 =9 i

(1) (C). (B). (D). (A) (2y (D). (A). (B). (C)

(3) (B). (D). (C). (&) (4) (C). (B). (A). (D)
[Question ID = 4930][Question Description = Q32_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19183]

2. 2 [Option ID = 19184]

3. 3 [Option ID = 19185]
4. 4 [Option ID = 19186]

28) Given below are two statements :

Statement I: The largest decimal number that can be represented using a 7-bit binary

number 1s 128,

[ ¥ IREETT Rl ot Stk s - T g SR A Sa g TR S R ) SRt TS S T B R L T S R Tt e o e i o g W Tt S D et o T S



RALQLELIITIIL 44 . VAL D bel Wl Dlks Lol eid L Sl e 1al ool S-Wdsll dieldilial DIl

is 7.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II is true

FoH (I):  7-fa= =1 uam w9 5U wew ¥ Snes A 128 # |

Fo (1) . T =91 21-T=foe emefas qmm = 5w #6 % fog =gaan 7 oz $i seegsa 2

SRR FUE o AT °, A9 3 T e # g w3 == i
(1) FW IR a7 |

(2) w9 IR II3E s@eT 2 |

(3) oA ITe 2, s = 11 waes 7 |

(4) w5 B, wff waa [TaeT 2 |

[Question ID = 4931][Question Description = Q33_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19187]
2. 2 [Option ID = 19188]
3. 3 [Option ID = 19189]
4. 4 [Option ID = 19190]

29) Which of the following group of statements with respect to World Wide Web (WWW) is
correct?
(A) A web server 1s a software used to access and view content on the WWW.
(B) A web browser 1s a computer system that makes files available on the WWW.
(C) Tim Berners — Lee created the WWW.

(D) Mosaic was the first widely used web browser.

Chooze the correct statements from above :
(1) (A) and (B) only {(2) (C)and (D) only
(3) (B) and (C) only {(4) (A) and (D) only

WWW (I52 @133 99) & #ea-d § FH-%H 8 727 Tal 27



(A) o9 TR U Higeaq & A WWW W Uah® 311 iz 2 = oo ugaa w2l 2 |

(B) =@ WIS UF FEAA eH & 71 WWW T 39 5t 59 # |

(C) Tou sHd-<f 4 WWW 571 |

(D)  HTAE TR WEE SAE] WAE R S A ae wee 91|

= f2u T e 5 | R 39w = A
(1) == (A) 317 (B)

(3) A (B) #R (C)

(2)  =ad (C) =k (D)

(4) FEa (A) = (D)

[Question ID = 4932][Question Description = Q34_GP_22NOV_S2_SHAAN]

1. 1 [Option ID = 19191]
2. 2 [Option ID = 19192]
3. 3 [Option ID = 19193]
4. 4 [Option ID = 19194]

30) Match List T with List IT

ListI List IT
(Digital Initiatives in Higher Education) (Purpose)
(A) NAD (I' Reduce dependency on proprietary
software In educational institutions.
(B) NDL (I)' Learn varlous free and open source

(C) Spoken Tutorial

(D) FOSSEE

software all by oneself.

(ITT) Tssuance, storage, access and
verification of Academic Awards
namely degrees, mark-sheets etc,

(IV) Frame work of virtual repository of
learning resources with a single —
window search facility.

Choose the correct answer from the options given below :

1) (A)-ID), (B)-IV), (C)-ID), (D)-(TD)
@ (A-IV), B)-1D), (©)-@. (D)-ID
(3) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
(4) (A)-(II). (B)-(I), (C)-(I1I), (D)-(IV)

FH-1 % T g1 1 e i
-1
T==oen § faies wma
(A) TAUEL
(B) TELU=E.
(C) TarT Zg=riga

(D) TUEATHTHEE

Hr fou U ferpedt ® | @R ST w0 WIS
1) (A)-(ID. (B)-(V). (C)-(ID), (D)-()

Ty FAY TN 7Y TITY Ay Ty /My 7 TT

=11
e
(O TEm-TEaE § W meEaE W A

FH Al E |

dAD) w1 # fafam @ sfi s |-
ATz Hrar 2 |

(1) Frla =, ST e, T5a AR Ais T
Fu -3, BreE-Tie seats = g

AV) T fast &= =i gfawr = @ w6 fads
%r\‘fl—. 15 = E:IW"\J T



N g R TR Koy NPT R Ry Ry Ay oLy

3 (A)-AV). (B)-ID, (C)-ID), (D)-(D)
@ (A-AD. (B)-(D). (C)-AID. (D)-(IV)

[Question ID = 4933][Question Description = Q35_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19195]
2. 2 [Option ID = 19196]
3. 3 [Option ID = 19197]
4. 4 [Option ID = 19198]

31) Ozone layer to become ozone hole. the concentration of ozone should be
(1) < 220 Dobson Unit (2) = 300 Dobson Unit
(3) < 320 Dobzon Unit (4) =400 Dobson Unit

HATAM WA F AAA (52 1 ufEidd 54 % &0 ArSE F1 5994 541 906 |

(1) < 290 =fq =%7% (2) <300 37T T
(3) =320 e 39 (4) =400 377 7978

[Question ID = 4934][Question Description = Q36_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19199]
2. 2 [Option ID = 19200]
3. 3 [Option ID = 19201]
4. 4 [Option ID = 19202]

32) The Virus responsible for disease COVID-19 is
(1) SARS — Cov-2 (2) TB- Cov-2
(3) SARS — Cov-1 (4) HaN-

Fias-19 F fow It fomm 2 -

(1) HHE -, - 2 (2) FEi-=E, -2
(3) =H-=FE. -1 (4) THIH>

[Question ID = 4935][Question Description = Q37_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19203]
2. 2 [Option ID = 19204]
3. 3 [Option ID = 19205]
4. 4 [Option ID = 19206]

33) Match List I with List II

ListI List IT
Air Quality Index Colour Code
(A 0-—30 Iy Yellow
(B) 101-200 (I) Red
(C) 201-300 (III) Green
(D) 301 —400 (IV) Orange

Choose the correct answer from the options given below :
(L (A)-(IID). (B)-(D). (O)-(ID). (D)-(IV)
(2) (A)-(III). (B)-(I). (C)-(IV), (D)-dI)
(3) (A)-(II). (B)-(D). (C)-(IIL). (D)-(IV)
(4 (A)-(ID). (B)-(I). (C)-(AV). (D)-(I1D)

THi-1 % Ty gi-11 7 fiem i

-1 TE1-1I
(A) 0-50 I e
(B) 101-200 dI) =
(C) 201-300 (III) =1
(D) 301 -400 (IV) =

= T2 v fewedl § H BE 39 1 =5 i
(1) (A)-(IIT). (B)-(T). (C)-(ID). (D)-(IV)
(2) (A)-(III). (B)-(I). (C)-(IV). (D)-(ID)
(3) (A)-(ID). (B)-(I). (C)-(I1I). (D)-(IV)



(4) (A)-(ID). (B)-(I). (C)-IV). (D)-(IIT)

[Question ID = 4936][Question Description = Q38_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19207]
2. 2 [Option ID = 19208]
3. 3 [Option ID = 19209]
4. 4 [Option ID = 19210]

34) The saltiness of the ocean water can be attributed to the minerals and salts deposited by the
various rivers that flow into it. However, rivers are not saline because :
(1 Salts get precipitated at the bottom
(2) Salts are absorbed by the plants into it
(3 River water in replenished by the rain
(4) Muds of the river neutralizes the =alt

(1) = qeEd | e w9 (2) ST TEUH AT F A B
(3) 7 e =l | i A S E (4) TH = M A0 F AT # EA E

[Question ID = 4937][Question Description = Q39_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19211]
2. 2 [Option ID = 19212]
3. 3 [Option ID = 19213]
4. 4 [Option ID = 19214]

35 -
) India’s maximum energy comes from :

(1) Hydroelectric Power Plant (2) Nuclear Power Plant

(3) Thermal Power Plant (4) Solar Power Plant
A | AT S o OEE R

(1)  wAfsret 9 (2) W fagd 9939
(3)  amfeEd T (4) i forga @

[Question ID = 4938][Question Description = Q40_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19215]
2. 2 [Option ID = 19216]
3. 3 [Option ID = 19217]
4. 4 [Option ID = 19218]

36) Under the rubric oriental learning programmes in India. The role of learner was considered

to be relatively more :

(1) Active (2) Passzive
(3) Neutral (4) Silent

G H, WA 29 AT HEw S A il i -aiaE w9 8 i

(1)  @rfsa At =t o (2) Tafsra et St of
(3) TZEY HT St o (4) w==— AE e ot

[Question ID = 4939][Question Description = Q41_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19219]
2. 2 [Option ID = 19220]
3. 3 [Option ID = 19221]
4. 4 [Option ID = 19222]

37) Which of the following features are indicative of the negative social rather than physical

aspects of environment?



(A)  Habitats in slums
(B) Conflict and clashes 1n groups
(C) Frustration and anxiety manifest in groups

(D)  Aggression and threats manifest in collective behaviour

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2)  (B}). and (C) only
(3) (B) and (D) only (4) (C)and (D) only
F=rifa o o FEA-H [Foea g=i % qita® 9 O AfGF 36 TRAeHS Qs U8 H Hhad 8¢

(A) ofe afm # aE-re
(B)  AE  EE T

(C)  @9El H Fa1 3R =ual The =l 7

(D) THE SIEEN H ATHREHAT A G@a T w4 8

H= 50 TU faweT § | TE 399 1 999 i
(1) a1 (A) 3 (B) (2) Fae (B) FHR (C)
(3) === (B) =1 (D) (4) Fae (C) 317 (D)

[Question ID = 4940][Question Description = Q42_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19223]
2. 2 [Option ID = 19224]
3. 3 [Option ID = 19225]
4. 4 [Option ID = 19226]

38) For continous professional development and self improvement every teacher is supposed to
atleast devote how many hours every vear?

(L) 20 hrs (2) 30 hrs
(3) 40 hrs (4) 50 hrs

T e T SR aneieRd & foe o faes i afs 9 g e 92 s e =i

(1) 2092 (2) 3082
(3) 40 9 4) 50

[Question ID = 4941][Question Description = Q43_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19227]
2. 2 [Option ID = 19228]
3. 3 [Option ID = 19229]
4. 4 [Option ID = 19230]

39) The central motivational goal as evident In personal success through demonstrating
competence according to social standards takes the form of a basic value called,

(1) Self — direction value (2) Hedonistie vlaue
(3) Achievement value (4) Power value

I AEESl % STET 3 F UETH F A OFed § T g SoRE ©sd § gegd 9o
Eﬁo? 7’:-'

1) e e @ FEE
(3)  TEfE wed (4) =i g7

[Question ID = 4942][Question Description = Q44_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19231]
2. 2 [Option ID = 19232]



3. 3 [Option ID = 19233]
4. 4 [Option ID = 19234]

40) Match List I with List II
List I List II
Stages of value development Descriptive features
(A) Stage I — Value collection (I) Provides predictability of human
behaviour
(B) Stage Il — Value assessment (I) = When there are gaps between
practised and preached values
(C) Stage III — Value clarification (III) Helps the individual learn to choose
and imbibe the values one cherishes
(D) Stage IV — Value consolidation (IV) These are acquired from the members
of the commumty
Choose the correct answer from the optlons given below :
(L) (A)-(IV), (B)-(II), (C)-(IT), (D)-(D)
(2) (A)-(I). (B)-(II), (C)-(III). (D)-(IV)
(3) (A)-(IT), (B)-(I). (C)-(IV). (D)-(I1T)
(4) (A)-(III). (B)-(IV). (C)-(D). (D)-(IT)
T=i-1 % Ty gi-I1 %71 fies Hifae
wei-1 11
(A) = - 1 - goF TmEm (I) TFF =20 H1 S 39 04 2 |
(B) = - II - 57 37 (IT) = =Fa8d 371 I94FeTa Aeal # 7w o |
(C) =7 - III - g7 Zuffam (II) =afFa = 9HdiEr gedi F =999 70 3w
foma™ # mEr A B |
(D) = - IV - g3 55FA (IV) 3% THM % "=el ° i fm = 2
“r f2u o famel 4 | w@E 3 W =9ae S
(1) (A)-(IV). (B)-(I1I). (C)-(1I). (D)-(I)
(2) (A)-(I). (B)-(1I), (C)-(11I). (D)-(IV)
(3) (A)-(IT), (B)-(T). (C)-(IV), (D)-(I1T)
(4) (A)-(ITD). (B)-(IV), (C)-(I), (D)-(II)

[Question ID = 4943][Question Description = Q45_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19235]
2. 2 [Option ID = 19236]
3. 3 [Option ID = 19237]
4. 4 [Option ID = 19238]

Topic:- GP_Set6_C

1)

Read the following passage carefully and answer the guestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftamanship to the vounger generation of the tolling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalizations of social practice as gems of knowledege to the yvounger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master crafteman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the excluszion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inegualisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
gqualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and



tanner in chemical technologyv. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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Inequalization due to education could be addressed by :

(&)

(B)

(C)

(D)

Promoting the distinction between theory and practise
Challenging the watertight distinction between training and education
Qualitative transformation of technology

Ushering in an age of specialization based on dichotomy between training and

education

Choose the correct answer from the options given below :

(1)

(3)

(A) and (B) only (2)  (A), and (D) only

(B) and (C) only (4)  (C) and (D) only

o161 § AEEHIE 1 TEIGE B

(A)

(B)

(©)

(D)

(1)
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fau o fwedi § O A9 SO F 999 it
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(3)

Fae (B) 311 (C) (4) Faa (C) =T (D)

[Question ID = 4944][Question Description = Q46_GP_22NOV_S2_SHAAN]

A WN -

2)

1 [Option ID = 19239]
2 [Option ID = 19240]
3 [Option ID = 19241]
4 [Option ID = 19242]

Read the following passage carefully and answer the guestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftamanship to the vounger generation of the tolling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalizations of social practice as gems of knowledege to the yvounger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master crafteman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the excluszion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inegualisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
gqualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between tralning and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Ass

ertion (A) : Education may be considered to be an instrument of inequalisation.

Reasons (R) : The separation of work from knowledge was operationalized by separation

of training from education.

In the light of the above statements. choose the most appropriate answer from the options



given below :

(1)
(2)
(3)
(4

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(A) 1s correct but (R) 1s not correct

(A) 12 not correct but (R) 1s correct

= 71 wom fow o . wE sfiwue (Assertion A) * w9 # foafem 2 91 380 3% Fn0 (Reason R) &

AfERT (A) : forear =1 STEEEE WS A A1 WA 2
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[Question ID = 4945][Question Description = Q47_GP_22NOV_S2_SHAAN]

A W N -

3)

1 [Option ID = 19243]
2 [Option ID = 19244]
3 [Option ID = 19245]
4 [Option ID = 19246]

Read the following passage carefully and answer the gquestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the =kills of labour and the secrets of
craftemanship to the younger generation of the toilling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalieations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftaman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation In history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftaman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurey and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historan, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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Given below are two statements :

Statement I: Training 1= intended to transfer the skills of labour and s=ecretz of crafts

manship to people who lack it.

Statement IT: Education is intended to pass on the abstracted generalizations of soclal

In

practize to those who lack it.

the light of the above statements. choose the most appropriate answer from the options

given below:

(1)
(2)
(3)
(4)

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I is correct but Statement II is incorrect

Statement I is incorrect but Statement II 1s correct
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[Question ID = 4946][Question Description = Q48_GP_22NOV_S2_SHAAN]

A W N -

4)

1 [Option ID = 19247]
2 [Option ID = 19248]
3 [Option ID = 19249]
4 [Option ID = 19250]

Read the following passage carefully and answer the gquestions that follow

The separation of work from knowledge was operationalised by separation of training from



edaucarion. ine [ormer was lntendaea to transier tne skills ol lapour and tne secrets ol
craftamanship to the vounger generation of the tolling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalizations of social practice as gems of knowledege to the yvounger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftaman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the excluszion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inegualisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
gqualitative transformation of technologyv, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became posszible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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The author of the passage argues for :

(A)
(B)
(©)
(D)

Classless zoclety
Technocratic society
Interrelation between theory and practice

Presentation of traditional crafts

Choose the correct answer from the options given below :

(1)
(3)

(A) and (D) only (2) (A} and (C) only
(B) and (D) only (4) (C)and (D) only

TR F SEE T FRYA A B 7
(A)  =EEE T

(B)  dATRI-aEHT TETH

(C) Toga =R =R & ueg wiqdey
(D) et e #i T

T 39T =1 999 0 -



(1)  hae (A) #HR (D) (2) HaE (A) 3R (C)

(3) =« (B) #iT (D) (4) =Ha= (C) 311 (D)

[Question ID = 4947][Question Description = Q49_GP_22NOV_S2_SHAAN]

A w N =

3)

1 [Option ID = 19251]
2 [Option ID = 19252]
3 [Option ID = 19253]
4 [Option ID = 19254]

Read the following passage carefully and answer the guestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the =kills of labour and the secrets of
craftemanship to the younger generation of the tolling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the yvounger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftaman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledee by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation In history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurey and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historan, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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Assign a suitable title to the paragraph

(1)
(2)
(3)
4

Theory without practice infertile, practical benefit of theory is in vain
Theory and practical. complement each others
Dichotomy of theory and practice

Theory lends support to practice

RS 1 I T w2

(1)

=gEn % fa Taga Fess 2, faga = fo sgeamn =19 2)



(2)  TogA 3R =I9ER TH-3R F TF F |
(3)  Tug S ==en F1 Tur)
(4)  TugmE @ =gaEw w1 w9 THea 2

[Question ID = 4948][Question Description = Q50_GP_22NOV_S2_SHAAN]
1 [Option ID = 19255]
2 [Option ID = 19256]
3 [Option ID = 19257]
4 [Option ID = 19258]

A W N -

Topic:- 2 New Political Science SH2_A

1) ‘Imperialism is the highest stage of capitalism’'. Whose statement is this?

"ARSAAIG YSiidIg ®I Icdd TRVl & ' A8 [pIdT el & ?
[Question ID = 6410][Question Description = S4_qSNz_PG_PLS_QO01]

V | Lenin/dt. w. aforer [Option ID = 25103]
Joseph Stalin/sh¥w Jeifersr [Option ID = 25104]
Karl Marx/@ref ama=f [Option ID = 25105]
Georg Lukacs/smst gart [Option ID = 25106]

A WN =

2) Who gave the concept of ‘Gaia’?
' a1zar & sraenzun fpwor & 3 ?

[Question ID = 6411][Question Description = S4_qSNz_PG_PLS_Q02]
1. Rachel Carson/9w @=fet [Option ID = 25107]

2. Vandana Shiva/dasgor férar [Option ID = 25108]

3. James Lovelock/3w craciias [Option ID = 25109]

4. Fritjof Capra/ftgesita @zt [Option ID = 25110]

3) Will Kymlica is the pioneer of which rights?

ferer fepaferent fopat siferpRI i sEca & ?
[Question ID = 6412][Question Description = S4_qSNz_PG_PLS_Q03]

1. Political Rights/3mcmfifere sifeipre [Option ID = 25111]
2. Legal Rights/@ropft siféipr [Option ID = 25112]

3. Natural Rights/araffa aiférerz [Option ID = 25113]
4. Cultural Rights/1rafe® sifepr [Option ID = 25114]

4) Who amongst the following is a positive liberalist?

forgoiferRad 3 A Dol ADRICAD ISRAIST 3 ?

[Question ID = 6413][Question Description = S4_qSNz_PG_PLS_Q04]
1. H. J. Laski/wa. 3t diizdht [Option ID = 25115]

2. Milton Friedman/fccotr wisdor [Option ID = 25116]

3. Robert Nozick/3meé siifStas [Option ID = 25117]

4. Herbert Spencer/sad = [Option ID = 25118]

5) Who has given the concept of Fiduciary Trust?

foratferRaa & A vl ferart nfdfa w1 (SRR ) & sraemrvn yeret &t 3 ?

[Question ID = 6414][Question Description = S4_qSNz_PG_PLS_QO05]
1. Hobbes/zfear [Option ID = 25119]

2. Locke/eiw [Option ID = 25120]

3. John Rawls/sifer 3fac=1 [Option ID = 25121]

4. John Stuart Mill/sifer 3g3ié firer [Option ID = 25122]

6) Karl Popper attacked the historicism of:

DIcl Uiuz of b1l MfersiRmar &t sicilaet &t 3 ?
[Question ID = 6415][Question Description = S4_qSNz_PG_PLS_Q06]



. Plato and Aristotle/wrel 3iiz 3R [Option ID = 25123]

. Plato and Hegel/wel siiz gt [Option ID = 25124]

. Plato and Machiavelli/twiel 3z da=nfdeft [Option ID = 25125]
. Machiavelli and Marx/da=nfactt siie st [Option ID = 25126]

A W N -

7) Who is the author of Emilé?

' SIS D AD Biol & ?

[Question ID = 6416][Question Description = S4_qSNz_PG_PLS_QO07]
1. Hobbes/zfsat [Option ID = 25127]

2. Locke/eliw [Option ID = 25128]

3. Rousseau/z2i [Option ID = 25129]

4. Plato/wre [Option ID = 25130]

8) "Political power grows out of the barrel of a gun.”, whose statement is this?

" 218t Istoliferes orfts dgas i ot A forperdl 3 s fopA®T BeUST B ?

[Question ID = 6417][Question Description = S4_qSNz_PG_PLS_Q08]
. Stalin/=<ifersr [Option ID = 25131]

. Mao Zedong/amir =xget [Option ID = 25132]

. Machiavelli/@fesemacft [Option ID = 25133]

. Hobbes/zgfex [Option ID = 25134]

A W N -

9) Vinayak Damodar Savarkar established

faGIRI cENc: ATaI®d: o forsifciRaa & A fpadt Femuor & eft ?

[Question ID = 6418][Question Description = S4_qSNz_PG_PLS_Q09]
India House/sfS=r a1 [Option ID = 25135]

Azad Hind Fauj/smeie f&eg wist [Option ID = 25136]

Abhinav Bharat/sifdrera sme [Option ID = 25137]

Samagra Savarkar Vangmaya/3wie] 3raa2 arg [Option ID = 25138]

A WN =

10) In the opinion of Vivekananda, the problems of India could not be solved, except by

frdoIoic @ R A sra B AI=sH o1 AENST HrciRaa i A fpA Sisw: Forns &l s Awar 3 ?

[Question ID = 6419][Question Description = S4_qSNz_PG_PLS_Q10]

. Assigning sole priority to the political objectives/Iswofifers 38931 @t vaarg a3krar ygiel &2 @ [Option ID = 25139]
. Expanding the social basis of nationalism/3mcdrc @ AmEufSid 3mmR @I fdFar @2 @ [Option ID = 25140]

. Supporting the Varnashrama system/quifept ugfer @1 wiefer @2 @ [Option ID = 25141]

. Not focusing on cultural and educational issues/RDf® e dteifde frwril w aet of do2 [Option ID = 25142]

A w N =

11) Who among the following has written the book titled Kautilya: The Arthashastra?

forgorferRaa 3 31 foparal "difec : g srefonzq” oldA® Yram forxdt 8 ?

[Question ID = 6420][Question Description = S4_qSNz_PG_PLS_Q11]

1. R.S. Sharma/sme=t omi [Option ID = 25143]

2. L.N. Rangarajan/uet. wel. 3R [Option ID = 25144]

3. Hermann Kulke and Dietmar Rothemund/asfe et den sseaz wess [Option ID = 25145]
4. J.C. Heesterman/as1. 2ft. f83cdior [Option ID = 25146]

12) "The mind, therefore, had to be de-colonized first before it could be made more responsive to freedom"”. Who among
the following made this statement?

3T: Fadqgar D Yiel e sraifipanolict Soilol © gd el ®I AdYLE feuforasiia2ur w6l sen As foretfciiRad 3 A fiprmr Bt 3 ?

[Question ID = 6421][Question Description = S4_qSNz_PG_PLS_Q12]
Mahatma Gandhi/arere stieft [Option ID = 25147]

B. R. Ambedkar/dft. sie. swasawz [Option ID = 25148]

Bal Gangadhar Tilak/aret sioner feretas [Option ID = 25149]

Swami Vivekanand/zarft fdareig [Option ID = 25150]

A w N =

13) Who considered democracy as a type of society in which political elites are recruited from different social strata on the
basis of individual merit?

forgotferRaa 3i 3 b0l cliapcic] DY TSI BT UH VAT FU IR RBr1dl IsHiferes Hjia cafepal (vfergzr) & sl Juaftps Asaar @ smemR uwR
farftreor amenfSres TRl A off Siredt 37



[Question ID = 6422][Question Description = S4_qSNz_PG_PLS_Q13]
1. C. W. Mills/>ft. sscey farear [Option ID = 25151]

2. S. R. Maheshwari/wa. a2, sgeast [Option ID = 25152]

3. T. B. Bottomore/t. . didiz [Option ID = 25153]

4. Robert Michels/3fe afidiear [Option ID = 25154]

14) Who among the following supported the ‘New Social Movements'?

forgarfeiRaa 3 A foparol "sidiar ATIfSID 3Micictoll’ oI JdrelaT fdp=m 3?7
[Question ID = 6423][Question Description = S4_qSNz_PG_PLS_Q14]

. Upper Classes/3ca asf [Option ID = 25155]

. Middle Classes/ae asf [Option ID = 25156]

. New Middle Classes/ara sieer asf [Option ID = 25157]
. Lower Classes/fswst asf [Option ID = 25158]

A WN -

15) Which one of the following components is NOT essential in the political culture?

forgotferi¥aa 3 A Dol A 3IMRIA AsToiliciad AFmia @ e sragad o8l & ?

[Question ID = 6424][Question Description = S4_qSNz_PG_PLS_Q15]
1. Values/ae= [Option ID = 25159]

2. Beliefs/faeara [Option ID = 25160]

3. Emotional attitudes/smarcore aifdrgfer [Option ID = 25161]

4. Corruption/serar [Option ID = 25162]

16) Which one of the following countries has no provision for Judicial Review?

forgotferRaa 3 ¥ fip2r Sor 3 =R Yorsier a1 Yraeet oidl 3 ?

[Question ID = 6425][Question Description = S4_qSNz_PG_PLS_Q16]
United States of America/3R[® e s@ifsamr [Option ID = 25163]

United Kingdom/<erses fossrsat [Option ID = 25164]

Switzerland/fRacsels [Option ID = 25165]

India/ema [Option ID = 25166]

A W N -

17) Which one of the following is NOT the basic feature of Post-Modernism?

forgsiferRaa 3 wlel AT Ud IR - IMYfSTDAIAIC DI LI TISIVI o1dl 8 ?

[Question ID = 6426][Question Description = S4_qSNz_PG_PLS_Q17]

It believes in deconstruction/s fi - 3o 3 frart aar & [Option ID = 25167]

It is concerned with the concept of feminity/?s aidtea &t smemun 3 3ddfea & [Option ID = 25168]

It challenges the accepted theory of International Relations/?e siaRisclr Jieli @ >diapa RBigidl @t goildl gar & [Option ID = 25169]
It is incredulity towards metanarrative/s 3ifér sieIer (AcroRfea) @ yfer sifdears s @z 3 [Option ID = 25170]

AW N =

18) Where was the first UN International Conference on Environment held?

IRTP ATE, DI YA HRIERI URIfavuT AFdiciol Dl ARNTSIA 31T o1 ?

[Question ID = 6427][Question Description = S4_qSNz_PG_PLS_Q18]
1. Rio de Janeiro/f=il & - Sl [Option ID = 25171]

2. Copenhagen/m®sigsral [Option ID = 25172]

3. Stockholm/3<feam [Option ID = 25173]

4. Cairo/@iiga [Option ID = 25174]

19) Which one of the following is NOT a proponent of the Systems theory of International Relations?

forgotferRacd 3 A Dol - AT Ub sicRivdk Fdel & wrazen Rrgia o1 yfiacs ol 3

[Question ID = 6428][Question Description = S4_qSNz_PG_PLS_Q19]
1. Morton Kaplan/diider @duciior [Option ID = 25175]

2. C. W. Manning/3ft. secg difsisr [Option ID = 25176]

3. Kenneth Boulding/d@at sifesar [Option ID = 25177]

4. Karl W. Deutsch /et seceg stert [Option ID = 25178]

20) Which one of the following is NOT a basic principle of Hans J. Morgenthau's Theory of Realism in International Relations?

forgoiferRaa 3 lol AT ub iR Jdel 3 A S1. APlory ® wRIkar @ Rigia o I Rigia o8t 8 ?
[Question ID = 6429][Question Description = S4_qSNz_PG_PLS_Q20]



Politics is governed by universal moral values/3siifer Ardsiifa diferd =il grI 93 aidt 8 [Option ID = 25179]
Politics is rooted in human nature/3smwefifer aera Fasiq 3 Afsaifda & [Option ID = 25180]

National interest is always defined in terms of power/Ind & oIfep @ 2igsi 9 ASa ulvenia aiar & [Option ID = 25181]
Politics is an autonomous sphere of activity/seiifer siferfafer v Farra eiq @ [Option ID = 25182]

A W N -

21) India has the Kalapani territorial dispute with which country?

IR PI PIcIUell TR frarc P Sor b e 3 ?

[Question ID = 6430][Question Description = S4_qSNz_PG_PLS_Q21]
1. Indonesia/svsiaifdrn [Option ID = 25183]

2. Nepal/omret [Option ID = 25184]

3. Singapore/Rismgz [Option ID = 25185]

4. Malaysia/scidrn [Option ID = 25186]

22) Which Prime Minister pursued the foreign policy of extending non-reciprocal concessions to neighbouring states?

fopa1 geredl of usiel Joif @ ATer vt PR o archl fAgerehifer ot sracRn?

[Question ID = 6431][Question Description = S4_qSNz_PG_PLS_Q22]
. V.P. Singh/dft. dt. Biz [Option ID = 25187]

. Inder Kumar Gujral/ssc2 @R srict [Option ID = 25188]

. P.V. Narasimha Rao/di. dt. srBwar 2ra [Option ID = 25189]

. Manmohan Singh/aemilset Biz [Option ID = 25190]

A W N -

23) In 1954, India signed the Panchsheel agreement with which neighboring state?

Rd of 1954 & fooa usi=il Sor & wrer daefiar wwsiia ur szdisk fovu ?

[Question ID = 6432][Question Description = S4_qSNz_PG_PLS_Q23]
Nepal/amrer [Option ID = 25191]

Sri Lanka/gffeier [Option ID = 25192]

China/xfter [Option ID = 25193]

Pakistan/uifdsarer [Option ID = 25194]

A WN =

24) Which one of the following is NOT a feature of India's ‘Nuclear Doctrine'?

IRA @ ‘onfdrbRr Rrgia’ & foer A A dlor At fadrudr ordl 3 ?

[Question ID = 6433][Question Description = S4_qSNz_PG_PLS_Q24]

. Minimum credible deterrence/agras fadeaeieier yferarur [Option ID = 25195]

. No use against friendly countries/fiiq 3l @ g s GRilet oiat [Option ID = 25196]

. No first use/uscl s31ep1 3Rl oidl w2 & [Option ID = 25197]

. Not against a state having conventional weapons only/@dct t3uRBIA sRRIRI drel A=l @ Racip $3Awm! 3uRNel ofal fdpenr sesn [Option ID = 25198]

A w N -

25) Which of the following states of India have the same number of representatives in the Lok Sabha?

HRA @ fogerfeiRaa sl 3 A fovor ciasaasm & et gferforfr & ?

[Question ID = 6434][Question Description = S4_qSNz_PG_PLS_Q25]

. Chandigarh, Delhi and Puducherry/<ishore, f&eedt siiz ggast [Option ID = 25199]

. Manipur, Meghalaya and Himachal Pradesh/afdmgz, dwrcrr iz faamrae ygor [Option ID = 25200]
. Arunachal Pradesh, Goa and Tripura/smsvircet yger, sitar, fegr [Option ID = 25201]

. Uttarakhand, Nagaland and Haryana/3mRgds, siencts 3iik sf=mvn [Option ID = 25202]

A W N -

26) Which one of the following fundamental rights are provided, to both citizens and non-citizens?

forotifee difera SiferpRl 3 A Blol AT UfRIDIZ SIPIN®I T 312 - TP Slell df YA & ?

[Question ID = 6435][Question Description = S4_qSNz_PG_PLS_Q26]
1. Right to equal opportunities/ sz &l Jarerar o siffierR [Option ID = 25203]

2. Right to freedom/¥adqar @1 siffierz [Option ID = 25204]

3. Cultural and educational rights/iz®fee a difdm siférpr [Option ID = 25205]

4. Right to equality /w6 @1 sifér [Option ID = 25206]

27) Which one of the following is NOT a factor for reforms in the Indian judicial system?

foretfeiRaa 3 ®lol RARI xR wIazen 3 JENR BT b PRD oldl 3 ?
[Question ID = 6436][Question Description = S4_qSNz_PG_PLS_Q27]



A W N -

The slowness and inaccessibility of the judicial process/cnRi® yfcpan I ¢fierr glor iz uga 3 sws2 aletr [Option ID = 25207]

The antiquated nature of court procedure and management practices/®I<¢ yfegen siiz yder srasrR &t graet ygfer [Option ID = 25208]

. Flaws in procedural law/yfcpiceare arefil ¥ weil =1 giw [Option ID = 25209]
. Public Interest Litigation/sweiféa anferet [Option ID = 25210]

28) Which Article of the Constitution of India lays down that the President cannot act without the aid and advice of the

Council of Ministers?

HRA @ ATIEIeT DI Diol AT IGITHT As RAFAT DI 3 b FHITAUST AP D ABRIAI 3R AclE D eIl DRI o1dl B2 Apar?

[Question ID = 6437][Question Description = S4_qSNz_PG_PLS_Q28]

A w N =

2

Article 75/smgies 75 [Option ID = 25211]
Article 74 (1)/sigeaa 74 (1) [Option ID = 25212]

. Artice 73/argida 73 [Option ID = 25213]
. Article 72/sms 72 [Option ID = 25214]

9) Which one of the following statements about Social Action Groups is NOT correct?

ARSI g A3 @ fawrr 3 forgarfeiRaa 3 A Blar -1 deret A ofdl 8 ?
[Question ID = 6438][Question Description = S4_qSNz_PG_PLS_Q29]

AW N -

They are micro action groups/a 3jg# figan e & [Option ID = 25215]

. They work for enhancement of technical capacities of urban agencies/a oisst aiférasuil bl daoflchl grrar agror & fere wrf a2 & [Option ID = 25216]
They work for the cause of the poor and the suppressed sections/d sBidi 3iiz gfera asif 3 ®rf @ & [Option ID = 25217]

They take up concerns for human, animal or environmental protection/d sirera, ug] 3iiz waifazoft J2em i fiar =1 & [Option ID = 25218]

30) The XIll Five Year Plan did NOT aim at

Redl daadier AlsTell T ciga o1l oIt ©
[Question ID = 6439][Question Description = S4_qSNz_PG_PLS_Q30]

1.
2.
3.

An effective system of plan monitoring and evaluation/iIsen &t forRIsl 3iiz 33D Ic=iidol D fere v gorrdt srazen [Option ID = 25219]
Dismantling the planning process in stages/ISoll gl @I TRUILg ¥4 A AWM Dol [Option ID = 25220]

[Option ID = 25221]

4. Systemic improvements during the plan period/ziiSomiet @ Gliel ®RIazemerd JemR [Option ID = 25222]

A WN -

31) Which one of the following tribal movements took place in post-independence India?

AR HRA 3 forotfeiRaa 3 A ®lel AT STol SIRI 3ficiclol §3IT ?

[Question ID = 6440][Question Description = S4_qSNz_PG_PLS_Q31]
. The Santhal Rebellion/ziernet fagis [Option ID = 25223]

The Bodo Movement/dIs! siicietet [Option ID = 25224]

. The Birsa Munda Rebellion/f&==1 gst fagis [Option ID = 25225]

. The Kol Rebellion/der fagis [Option ID = 25226]

32) When did the first labour agitation occur in India?

HRA 3 Uscll 9JJ 3MicIciol dd 31T ?

[Question ID = 6441][Question Description = S4_qSNz_PG_PLS_Q32]
1875/1875 [Option ID = 25227]
1890/1890 [Option ID = 25228]
1900/1900 [Option ID = 25229]
. 1921/1921 [Option ID = 25230]

A w N =

33) Frederick Herzberg is famous for which one of the following theories?

forgatferRaa 3t 3 v Brgia @ fere o ssiast ot siren srar 3 ?

[Question ID = 6442][Question Description = S4_qSNz_PG_PLS_Q33]
Human Relations Theory/#irera ider Brgia [Option ID = 25231]

Bureaucratic Theory/siiezanét Brgia [Option ID = 25232]

. Leadership Theory/algea Bigia [Option ID = 25233]

. Motivation Theory/siférzur Brgia [Option ID = 25234]

A W N -

34) Which one of the following orders falls under the "zone of indifference" propounded by Chester Barnard?

forgotferRaa 3 3 Dol - AT 3G9I A2 Tols FRI gferured "Serfleiar & 8" @ siaefa smar & ?
[Question ID = 6443][Question Description = S4_qSNz_PG_PLS_Q34]

Annual plan budget strategy for implementing various schemes of the government/R®oR &I fafdioor bl B DrIffdad do @ fore arftia Asiol dsic sl



. Those which will be clearly unacceptable/sit usca: srdiart aist [Option ID = 25235]
. Those which are unquestionably acceptable/si feifdfars su 3 ¥diwrt 2 [Option ID = 25236]

Those which are on neutral line i.e. either just acceptable or just unacceptable/Sl deerr &I 3 w &, Al =1 Al e Fdior! 8 a1 e srdiorR!
[Option ID = 25237]

. Order that fails intentionally in an obligation/as sucer Sit fapeft GifRrea 9 et - geras2 sriwet alar 8 [Option ID = 25238]

35) "Conflict is not warfare, but is only an appearance of difference - difference of opinions, of interests not only between
employer and employee but also between managers, between directors or wherever differences appear”. Who made this

S

tatement?

E& DI Y oidl & afer ag dac iaR @l R usdr & - AaeaR, Rdl ol siae o dacd dwfere ik wfarst & dfia afed yders! & & of,

forcormi @& dfa off, I SIEf Bl siae s usa & ' us fpr®t dera 8 ?

[

AW N =

Question ID = 6444][Question Description = S4_qSNz_PG_PLS_Q35]

. Chester Barnard/acz sofs [Option ID = 25239]

. Rensis Likert /a3 ferasd [Option ID = 25240]

. Mary P. Follett/ast dt. wicie [Option ID = 25241]

. Douglas McGregor/ssiert didsjer [Option ID = 25242]

36) Patrick Dunleavy has enumerated which of the three key components of New Public Management (NPM)?

Uf¢ Solcldl of ofd clid Ydtiol (Tol Ul wl) @ diol - A «ilel Y fcd PBree 3 ?

[Question ID = 6445][Question Description = S4_qSNz_PG_PLS_Q36]

A W N -

Disaggregation, competition and incentivisation/fRuiccrel, gfeRifrr sk gimdiazur [Option ID = 25243]
Centralization, power and authority/@gta=u1, eifep 3iik arar [Option ID = 25244]

. Bureaucratisation, rigidity and timidity/sli@2endiavr, @l iz arrar [Option ID = 25245]

. Conservation, displacement of goals and conflict/=fsars, gl @I fdemuet 3k gg [Option ID = 25246]

37) Indian Institute of Public Administration was set up to serve as a "Think Tank" to the Government of India, in which

year?

HRA IRPR D R Tp' D U I PRI Dl D 1w sl dld yorRte Avere &l Ferue et ad gf ofi?

A W N -

[Question ID = 6446][Question Description = S4_qSNz_PG_PLS_Q37]

. January, 1950/smerast 1950 [Option ID = 25247]
. February, 1951/w2ast 1951 [Option ID = 25248]
. April, 1953/aider 1953 [Option ID = 25249]

. March, 1954 /7t 1954 [Option ID = 25250]

38) Which one of the following committees was appointed to review the civil service examination system?

forrarferRaa Afdiferal 3 fopar Raferer Arar wdten waven & Feiien 3q forgm b= Rl ?
[Question ID = 6447][Question Description = S4_qSNz_PG_PLS_Q38]

1. Santhanam Committee/3ienamr Afdifer [Option ID = 25251]

2. Ashok Mehta Committee/atolias daar Aufdifer [Option ID = 25252]

3. Satish Chandra Committee/3iitor asgr Afdifer [Option ID = 25253]
4. L. M. Singhvi Committee/uel. war. Rierdt wufarfer [Option ID = 25254]

39) Which one of the following is a redressal mechanism of grievances?

forgoiferRaa 3 ®la clid fIrPRIAl @I forarvr dq 3 ?

[Question ID = 6448][Question Description = S4_qSNz_PG_PLS_Q39]
. Administrative Reforms Commission/yemifers I amreist [Option ID = 25255]

. Right to Information/3yaei @1 sifépr [Option ID = 25256]

. Management of Resources/3iemsit @1 yatrer [Option ID = 25257]

. Right to Education/fd1en @1 sifeipre [Option ID = 25258]

A w N =

40) Who was the chairman of the 'Health Survey and Development Committee' appointed in 1943 in India?

HaRd 3 1943 3 a1fda "Farrea Ad 3 faory Afdfcr o1 sreasr oiof o ?
[Question ID = 6449][Question Description = S4_qSNz_PG_PLS_Q40]

Sir Walpole/3® aremdler [Option ID = 25259]

Sir Joseph Bhore/3r SiRiw i3 [Option ID = 25260]
. Lord Macaulay /e diwrer [Option ID = 25261]

. Veerappa Moily/dlzua siiseit [Option ID = 25262]

A w N =



41) Who among the following are postmodernist thinkers?
A. Michel Foucault

B. Levi Strauss

C. Jean Francois Lyotard

D. John Rawls

Choose the correct answer from the options given below:

forgotferfiaa 3 A wlar A = sneyford Rias 3 ?

A. #sDa HoL

B. ot xefar

C. i bplsARIES

D. sifor e

ofid 3w o1 fweal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 6450][Question Description = S4_qSNz_PG_PLS_Q41]

. Aand B only/a@act A siiz B [Option ID = 25263]

. B and C only/@ac B siiz C [Option ID = 25264]
. Aand C only/daer A siiz C [Option ID = 25265]
. Cand D only/aaer C siiz D [Option ID = 25266]

A w N =

42) Shallow Ecologists believed in
A. Health and prosperity of people
B. Antigrowth

C. Sustainable growth

D. Ecocentrism

Choose the correct answer from the options given below:

Fad wafazur fig Rowit fRrsara vaaa & ?

A. it @ Farrea s aghy &

B. faprar fomyer 3t

C. Jada faort A

D. uafarvrdsocare (SpRifeRse)

il fou s1u frpeul 3 2 & IR BT a6l HIfSIE ©

[Question ID = 6451][Question Description = S4_qSNz_PG_PLS_Q42]

A and C only/dbaet A siiz C [Option ID = 25267]
B and C only/dqet B sfiz C [Option ID = 25268]
C and D only/@aet C iz D [Option ID = 25269]
B and D only/dact B sfiz D [Option ID = 25270]

A WN -

43) Who among the following has dubbed Marxism as a totalitarian doctrine?
A. Karl Popper

B. Isaiah Berlin

C. Hannah Arendt

D. Antonio Gramsci

Choose the correct answer from the options given below:

forgotferfaa 3 A Rperor Ara=iarc @ sifteRwardt Rigia wer 3 ?
A. oret dir

B. sz afefor

C. el amioge

D. Sciform syerelt

il fou s1e fraseul 9 3 I IR BT w6l HIRdIE :



[Question ID = 6452][Question Description = S4_qSNz_PG_PLS_Q43]

A and B only/d@act A 3iiz B [Option ID = 25271]
B and C only/dact B sfiz C [Option ID = 25272]
C and D only/dsaet C siiz D [Option ID = 25273]
A and C only/d@act A siiz C [Option ID = 25274]

A W N -

44) Which of the following books are NOT written by Confucius?
A. Books of Changes

B. Books of Animals

C. Books of Songs

D. Books of Summers and Winters

Choose the correct answer from the options given below:

forgatferRaa 3 3 dlat - Ml Yzad BorRIfIRRI TRI &l ferdl o 3 ?

A. ga siiw <o

B. ga=1 siiw dfowrca

C. gau sifw Alsa

D. ga1 3ifw et Us ficet

ofid o o1 fwseal # A A8 IR BT <RIl BT :

[Question ID = 6453][Question Description = S4_qSNz_PG_PLS_Q44]

A and C only/@act A siiz C [Option ID = 25275]
B and D only/@det B 3iiz D [Option ID = 25276]
C and D only/aaet C 3fiz D [Option ID = 25277]
A and D only/a@5aet A siiz D [Option ID = 25278]

A wWwN -

45) John Rawls believed in:
A. Difference principle

B. Entitlement principle

C. Egalitarianism

D. Libertarianism

Choose the correct answer from the options given below:

Sifot e forgorferRaa 3 3 foperd farart waa a

A. 3= Rrgia

B. swerdl Rigia

C. JEramas

D. RBriqarg

oifd fu sru frapeul 3 A AT IR DI RIS DIfST :

[Question ID = 6454][Question Description = S4_qSNz_PG_PLS_Q45]
1. Aand B only/@>act A siiz B [Option ID = 25279]

2. B and C only/dact B siiz C [Option ID = 25280]

3. Cand D only/dae C aiiz D [Option ID = 25281]

4. Aand C only/a@ac A siiz C [Option ID = 25282]

46) Gandhi's concept of Swadeshi was impacted by:

A. His deep ethical-spiritual conviction

B. His understanding of the economic condition of the people, especially at the grassroots
C. Influence of Ruskin's book, ‘Unto This Last'

D. His focus on truth and understanding of Jainism

Choose the correct answer from the options given below:

aiteft bt Fagoft bt siaemon uz forsifciRaa o1 gema a1 o @
A. 3GIDT 31641 oifeld - smenfead feary



B. ciiell bl snfefas Rrerfer bl fardraas? smar cisil & Rerfer &I, o1l Farst

C. w1 bl gaa® ‘3161 © e’ DI YHId

D. 31 3iiR Stot et bt 01T R T

ofi o s1u feseal & A A8 IR BT wRI6l BT :

[Question ID = 6455][Question Description = S4_qSNz_PG_PLS_Q46]

A, B, C and D/A, B. C siiz D [Option ID = 25283]

B, C and D only/a@act B, C siiz D [Option ID = 25284]
A, B and C only/daet A, B aiiz C [Option ID = 25285]
C and D only/@aet C sfiz D [Option ID = 25286]

A W N -

47) Nehru's idea of nationalism was based on:

A. Militant nationalism

B. Strong faith in cultural pluralism

C. Right to self-determination

D. Synthetic universalism propounded by Rabindranath Tagore

Choose the correct answer from the options given below:

NG T Al I frar b ur smenfya e :

A. 391 arecare

B. Airaferes sgerarg 3 yaer farara

C. ¥a - forerizur @1 3iférprR

D. dioconer ¢aNR grI gfaaifea el faeaare

il feu aru faeedl 3 A A8 IR @1 WRIet B :

[Question ID = 6456][Question Description = S4_qSNz_PG_PLS_Q47]

A, B and C only/d@act A, B siiz C [Option ID = 25287]
B, C and D only/a@aa B, C siiz D [Option ID = 25288]
A, C and D only/daer A, C siiz D [Option ID = 25289]
A, B, C and D/A, B, C siiz D [Option ID = 25290]

A w N =

48) Which of the following statements are true about the concept of ‘Total Revolution' of Jayprakash Narayan?
A. It can be traced to his note on Total Revolution in his book, Prison Diary

B. It can be traced to the crumbling Indian polity under the burden of corruption, the rise of authoritarianism, social
discrimination, etc

C. His quest for a moral society as the basis of democracy was the guiding force behind his total revolution
D. His concept of total revolution was based on his support for political centralization and economic decentralization

Choose the correct answer from the options given below:

SRIYPIYI SIRRIVI b 'HAYuf ayifer’ I sraemun o fawrr 3 foraifeRad 3 A Didl - A DA A 8 ?

A. 33 'IUSIel SREI olidAd Ioibl g 3 AQui Gpifer uz Iorhl fevavit 3 ger s Apar 3

B. 331 =R @ MR, IdMAIc D 36, AHIMID N seaIfc A [l undl Isacaaren i gl S Addar 3

C. clioodq @ LR D WU 3 SIfere TSI Dl Jorbl detror Jorbl At apifer B orseres orfts eft

D. Sercht 2iguf ayifer &t sraemeon sl dodiarur iz e fdegiaur & gfer 3o el ur smenfea oft
il fou s1u fyeseul 3 2 & IR BT a6l HIfSIE ©

[Question ID = 6457][Question Description = S4_qSNz_PG_PLS_Q48]

. A, B, C and D/a@act A, B, C siiz D [Option ID = 25291]
. A, Cand D only/aaet A, C siiz D [Option ID = 25292]
. A, B and D only/asaet A, B siiz D [Option ID = 25293]
. A, B and C only/dacr A, B iz C [Option ID = 25294]

A WN -

49) The behavioural approaches to the study of politics are :
A. Empirical in nature
B. Focused on facts

C. Focused on a scientific view of the political reality



D. Focused on philosophy

Choose the correct answer from the options given below:

ISTolifer B 31ERIT B Yfel RAasRard! ftcaivr

A. Fasrad: oI iar 3

B. el uz B arar 3

C. sl Iseiifre aemef &t Jsufores efte uz earar BSfga fpar sirar 3

D. 3313t golet Uz wet e it 3

ofid 3w a1 foseal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 6458][Question Description = S4_qSNz_PG_PLS_Q49]

A and C only/dact A siiz C [Option ID = 25295]

A, B and D only/@aet A, B aiiz D [Option ID = 25296]
A, B and C only/d@aa A, B siiz C [Option ID = 25297]
B, C and D only/d@aa B, C siiz D [Option ID = 25298]

A w N =

50) Robert Packenham has outlined the important roles of the assemblies of Afro-Asian and Latin American countries as:
A. Legitimate function

B. Safety-valve function

C. Administrative overview

D. Judicial activities

Choose the correct answer from the options given below:

Jfad Uddoraa of 3nbihl - CfdrRME aer ¢ifeor 3@l Soil &t sRIFaferIl Bt Fsrayyt sfdrmisit B Fudwr geqa &t 3 a yferom 3 :
A. 3 gyort

B. 32gn arca yori

C. yomifore fagsnaciiavor

D. iR ®Riwema

il fou s1u frapeul 3 2 & IR BT a6l HIfSIE ©

[Question ID = 6459][Question Description = S4_qSNz_PG_PLS_Q50]

A, B and C only/dact A, B aiiz C [Option ID = 25299]
B, C and D only/adaet B, C siiz D [Option ID = 25300]
A, B and D only/a@act A, B afiz D [Option ID = 25301]
B and C only/adact B sfiz C [Option ID = 25302]

A WN =

51) Apart from low income, the third world is also identified by the presence of:
A. Social inequalities

B. Economic prosperity

C. Human and economic poverty

D. Gender inequalities

Choose the correct answer from the options given below:

i1l gform bl usarel forat 1 @ sifeifyd forFsiferRaa 3 2 iz fporad Blol A il 3 ?
A. ARSI RIATIAT

B. i 9t

C. Jrera e ref Fdeht foreforar

D. fefer sRI3IGIaT

ofid o s1u fwsedl & A A8 3R BT wRI6l HIfvIT :

[Question ID = 6460][Question Description = S4_qSNz_PG_PLS_Q51]

. Aand B only/a@aet A siiz B [Option ID = 25303]
. B, Cand D only/daea B, C siiz D [Option ID = 25304]
. B and D only/dact B siiz D [Option ID = 25305]
A, C and D only/dsaet A, C siiz D [Option ID = 25306]

A W N -



52) Which of the following aspects were part of Woodrow Wilson's 'Fourteen Points' regarding new approach to international
diplomacy?

A. Economic barriers for trade be imposed

B. Polish state is not given free access to sea

C. Open covenants of peace, openly arrived at

D. A free, open-minded and impartial adjustment of all colonial claims

Choose the correct answer from the options given below:

ARSI STl @ Yfer gee efieaplut A Hdfda frcerer @ "dics ¢ 3 otdl A Plot A Usl 3 ?
A. murR @ ferg snlfe A g SId

B. tlcis @ Irsa @1 Ag ad forafer gaor oidl Ko s

C. orifey &1 wgeft grifderd Proram et ugar S

D. 2191 Suforaeft crdl @1 b, Il fSamr A iz forougt ARSI

ofid o s1u faseal & A A8 IR BT wRI6T BT :

[Question ID = 6461][Question Description = S4_qSNz_PG_PLS_Q52]

A and B only/dqet A siiz B [Option ID = 25307]
B and C only/@aet B siiz C [Option ID = 25308]
C and D only/a@aet C 3fiz D [Option ID = 25309]
A and D only/@act A siiz D [Option ID = 25310]

A W N -

53) What were the essentials of the ‘Glasnost' policy of Mikhail Gorbachev?
A. Promotion of the principle of freedom to criticize

B. End of the leading role of the '‘Communist party’

C. Loosening of control on media and publishing

D. Creation of an executive presidency

Choose the correct answer from the options given below:

frarscr siafdia &1 "scersilea’ ofifer @ siforart awa a=n 3 ?

A. sireiraent &t Fadgar @ Rrgia o Qs

B. ‘wajforec urél’ @ sigea &t yfdrnt 6 zramfy

C. iif3=r 3R gyopr9rel UR fORIGUI ®I Gl Dol

D. ®riurces st & Femusn

il fou s1u frpeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 6462][Question Description = S4_qSNz_PG_PLS_Q53]

A and B only/@act A 3iiz B [Option ID = 25311]
A and C only/a@act A siiz C [Option ID = 25312]
A and D only/@act A siiz D [Option ID = 25313]
B and D only/dact B sfiz D [Option ID = 25314]

A W N -

54) Which of the following statements are true about the UN peace-keeping?

A. Its provisions are not explicitly given in the UN Charter

B. It is the sole prerogative of the Secretary-General of the UN

C. It has undergone quantitative and qualitative changes in the post-cold war period
D. India and America have jointly sponsored it

Choose the correct answer from the options given below:

Juol bl o1ifer - Fermuoln @ farerRr 3 so1dl A Dlol A THRI AR 3 ?
A. s Yraene Jud aez d Fute JU A oidl o a1w 3

B. ¥z Yuol D FRIRKIG BT UHdI URANBR 3

C. 1= ofia Iz @I i 23 ubdvmEaea® 3 SUIeHe uf¥adet gu 3
D. sirza siiz 31dfynt of 53 IYED Bu A YrRIFSIA fvar 3



ofia fu s1u farpeul 3 A 2t IR DI R DifeIu
[Question ID = 6463][Question Description = S4_qSNz_PG_PLS_Q54]

B and C only/a@qet B siiz C [Option ID = 25315]
A and D only/d@act A siiz D [Option ID = 25316]
A and C only/a5ae A siiz C [Option ID = 25317]
C and D only/a@aet C sfiz D [Option ID = 25318]

A WN -

55) Which of the following agreements have been concluded by India with its neighbours in the past seven years?
A. Indo-Nepal Power Trade Agreement

B. Afghanistan-India Friendship Dam

C. Chittagong Port in Bangladesh

D. Building of Parliament in the Maldives

Choose the correct answer from the options given below:

forecr w1ma Arell 3 1R of 3ol uSIRRI @ ATel Biol -3 A fpe 3 ?

A. 9Rd - Slurel 9IfRP RIMUR A3ISTAT

B. srenforraret - sa il afer

C. qivercor A acsiia dgee

D. smerdiu # Jivag o1 forartor

il feu s1u faeedl 3 A A8 IR D1 TRIet B :

[Question ID = 6464][Question Description = S4_qSNz_PG_PLS_Q55]
1. A and B only/dact A siiz B [Option ID = 25319]

2. B and C only/dact B siiz C [Option ID = 25320]

3. Cand D only/a@aer C siiz D [Option ID = 25321]

4. Aand D only/a@act A sik D [Option ID = 25322]

56) Which of the following disputes are related to India and Pakistan?
A. Siachen Dispute

B. Sir Creek Dispute

C. Kalapani Dispute

D. Dahagram Dispute

Choose the correct answer from the options given below:

forgaifeiRaa 3 A fopat faarci @ Jdder sird 3R uifdpedrer A 3 ?

A. Rrafie fac

B. R afio faarc

C. et faarc

D. creopm faarc

il fou s1u fyeseul 3 A W IR BT w6l HIfSIE ©

[Question ID = 6465][Question Description = S4_qSNz_PG_PLS_Q56]

A and B only/@act A 3iiz B [Option ID = 25323]
B and C only/adqet B sfiz C [Option ID = 25324]
C and D only/dsaet C siiz D [Option ID = 25325]
A and D only/dact A siiz D [Option ID = 25326]

A W N -

57) Which among the following countries are members of the BIMSTEC?
A. Japan and South Korea

B. India and Sri Lanka

C. Thailand and Myanmar

D. China and Pakistan

Choose the correct answer from the options given below:

Foldl A Dlol -A J9I foD D A=A 3 ?



A. Saret 3iiR gféroT PR

B. s1ra 3iiz offciar

C. arsds siik ®iaR

D. ot 3iiz urftpzrer

ofi o s1u fwedl & A A8 IR BT <RIl HIRIU :

[Question ID = 6466][Question Description = S4_qSNz_PG_PLS_Q57]

A and B only/dqet A siiz B [Option ID = 25327]
C and D only/@aet C iz D [Option ID = 25328]
B and C only/adqet B siiz C [Option ID = 25329]
A and D only/dbaet A siiz D [Option ID = 25330]

A W N -

58) For which purpose was the Cabinet Mission sent to India?

A. To establish a national government

B. To workout a constitutional arrangement for the transfer of power

C. To suppress the intensity of the national movement

D. A Constituent Assembly to be elected by Provincial Assemblies through proportional representation

Choose the correct answer from the options given below:

$IRd 3 Dfcfolc 39161 DI 1 3Z9A D fe1g A sk o ?

A. IR ADR DI Feruer

B. 11 @ 3diaRUI 3q Adefold =IaFeIl dIol

C. ISR siicictol 1 dligar @1 Gatel el

D. smouifere yfeiforferma GrI gidiR 3RIFECRII SRI U Afderst 1 (PRee sRivEcll) BT golrd
il fou s1u fRrpeul 3 A & IR BT a6 HIfSIE ©

[Question ID = 6467][Question Description = S4_qSNz_PG_PLS_Q58]

. A, Band C only/asaet A, B sfiz C [Option ID = 25331]
. B, Cand D only/a3ae B, C siiz D [Option ID = 25332]
. A, B and D only/dsaet A, B sfiz D [Option ID = 25333]
. Aand D only/dact A siiz D [Option ID = 25334]

A WN -

59) Which of the following are provided for by the 74th Constitutional Amendment in respect of Municipal Corporation?
A. Seats to be filled by direct elections on the basis of wards

B. Reservation of seats for Scheduled castes and Scheduled tribe

C. Reservation of seats for backward classes

D. One-third reservation of seats for women

Choose the correct answer from the options given below:

forgatferRaa 3i 3 Plet A yraenl oPR forr & Jder 3 74 q Jfens Jolerer & gRI b sk 8 ?
A. <l & arg smenfya yeaer forafaet GRI 8T SIesm

B. aroafere sfer wd sropfere Srorsifer b et w1 smrgior

C. 3o fUss aeif &I 3ReIvT

D. afdcmsii @ fere v ferd smegvr

ofid 3w o1 fwseal & A A8 IR BT <RIt HIRIT :

[Question ID = 6468][Question Description = S4_qSNz_PG_PLS_Q59]

. A, Band C only/daer A, B aiiz C [Option ID = 25335]
. A, Band D only/dact A, B siiz D [Option ID = 25336]
. B, Cand D only/dae B, C siiz D [Option ID = 25337]
. A, Cand D only/a@aa A, C siiz D [Option ID = 25338]

A w N =

60) The economic implications of globalization, liberalization and privatization in India are:
A. Substantial reduction in government spending

B. Transformation of the whole process of planning



C. Introduction of a pattern of indicative planning
D. Retention of traditional sectoral planning

Choose the correct answer from the options given below:

gotdl A Dlol ARA A dediavr, Igiavr aen forsliaur o snfife yema 3 ?

A. IR A 3 st ot

B. =iston &1 gl yfepan 3 ufyader

C. Aidfere srision ($f3adfecs venfoisr) & ormamda

D. uRuIfs AMRID SgBRI ARISION I L30T

oifa feu sru faredl 3 A A8 IR D1 WRIel B :

[Question ID = 6469][Question Description = S4_qSNz_PG_PLS_Q60]

. A, B, Cand D only/A, B, C siiz D [Option ID = 25339]
. A, Band C only/asaet A, B siiz C [Option ID = 25340]
. B, Cand D only/dae B, C siiz D [Option ID = 25341]
. Cand D only/daet C siiz D [Option ID = 25342]

A w N =

61) Which of the following are the seminal works of Frederick W. Taylor?
A. Piece-Rate System

B. On the Art of Cutting Metals

C. Constructive conflict

D. Shop Management

Choose the correct answer from the options given below:

foretfeiRaa 3 A Bl Bsfrapsecy 2ar 6l Hiferas Faems 3 ?

A. 9 ¥ Brea

B. 3é sifw @pfdsr dAecaa

C. ®cfdca dowictaca

D. oifu Jiolswic

il fou s1u frpeul 3 2 & IR BT a6l HIfSIE ©

[Question ID = 6470][Question Description = S4_qSNz_PG_PLS_Q61]

. A and C only/daet A siiz C [Option ID = 25343]
. Cand D only/dsaet C iz D [Option ID = 25344]
. A, B and D only/dsaet A, B sfiz D [Option ID = 25345]
. B, Cand D only/daea C, B iz D [Option ID = 25346]

A WN -

62) The essence of the "Hawthorne Experiments” conducted by Elton Mayo, lies in which of the following?
A. Great Illumination Experiment

B. Art of Cutting Metals

C. Human Attitudes and Sentiments

D. Bank Wiring Experiment

Choose the correct answer from the options given below:

weeol 311 $RI el 31 "srellel gRIle1” @1 AR forsifeiRaa 3 21 fopord 8 ?

A. 3)c - scgfdolore TaAUsldoc

B. 3¢ 3ife wpidst dcca

C. gdior efecyga Us Aochica

D. o araf¥er vaznafudic

ofid o s1u fasedl & A A8 IR BT WRI6l BT :

[Question ID = 6471][Question Description = S4_qSNz_PG_PLS_Q62]



. A, Band C only/dact A, B siiz C [Option ID = 25347]
. Aand C only/dbaet A siiz C [Option ID = 25348]
. A, Cand D only/adact A, C aliz D [Option ID = 25349]
. B and D only/dsaer B siiz C [Option ID = 25350]

A W N -

63) According to Nicolas Henry which of the following are the fundamental A's of New Public Management?
A. Agility

B. Alertness, Accountability

C. Alignment, Adaptability

D. Authority

Choose the correct answer from the options given below:

forapIcrat 3018l @ 3reRIR forraiferfRaa 3 A dlol A1 oIdlal ellas gderol (Tordiuar) @ difers 'A' 87
A. ¥t (ofsiferd)

B. wrcrasan, Sraraddl (gordor, voiERifk)

C. s, lofdycidl (Tclsoldic, TSrRfAferet)

D. 2rar (sifenfydt)

il feu sru fareedl 3 A A8 IR D1 WRIel B :

[Question ID = 6472][Question Description = S4_qSNz_PG_PLS_Q63]

1. Aand D only/ddet A 3iiz D [Option ID = 25351]

2. Band C only/dde B sz C [Option ID = 25352]

3. A, Band C only/dae A, B iz C [Option ID = 25353]

4. Aand C only/aact A iz C [Option ID = 25354]

64) Which of the following institutes and bodies have an important role to play in policy planning?
A. Indian Statistical Institute

B. National Council of Applied Economic Research

C. Comptroller and Auditor General

D. Council of Scientific and Industrial Research

Choose the correct answer from the options given below:

forgatferRaa 3 A fper Azemail aen forwril & shfer foertor 3 Asragel syferor aidt 3 ?
A. st AiR=db Fivenst

B. IR sy snidfas srofienmet ufsug

C. ORIq® T FAsIcRAl Ui

D. dsufore aen sfenfre siopiene ufug

il fou s1u frpeul 3 2 & IR BT a6l HIfSIE ©

[Question ID = 6473][Question Description = S4_qSNz_PG_PLS_Q64]

. A, B and D only/asaet A, B sfiz D [Option ID = 25355]
. B and C only/dact B siiz C [Option ID = 25356]
. Cand D only/daet C siiz D [Option ID = 25357]
. B and D only/dsaer B siiz D [Option ID = 25358]

A W N -

65) MGNREGA 2009 aimed at improving the purchasing power of rural people. The ‘'focus of the scheme' is enumerated in
which of the following areas?

A. Water conservation; Water harvesting

B. Renovation of the traditional water bodies

C. Land development; Flood control

D. Rural connectivity to provide all-weather access

Choose the correct answer from the options given below:

‘#oto10n 2009" T cign spafiv Stotar &l g 91RP 3 JER ool 8 3 Alsloll B dg [dg forForferRad 3 21 ot wr Reaa 3 ?

A. SicT 3381v1, Siel FHsJBuT



B. uruif¥® Siar

formrIl @1 srdiciiaszor

C. y4fd1 R, a6 orRiquUT
D. ars arRil uga Aferia ol 3q spefivr FRASIPar
offal feu sru el 3 2 A8 IR D1 WRIel B :

[Question ID =

1
2
3.
4

6474][Question Description = S4_qSNz_PG_PLS_Q65]

. A, Band C only/aaet A, B siiz C [Option ID = 25359]
. A, B, Cand D/A, B, C3iz D [Option ID = 25360]

A and B only/d>qet A siiz B [Option ID = 25361]

. B and C only/daet B sfiz C [Option ID = 25362]

66) Match List | with List Il

List |

List Il

IAuthor

Books

A. E. F. Schumacher|l. The Silent Spring

B. James Lovelock

Il. The Turning Point

C. F. Capra

lll. Gaia: A New Look at Life on Earth

D. Rachel Carson

Choose the correct answer from the options given below:

et -1 B e -1l A e e

et - et -1l
(crza) (o3er)
A. $. OB, .
|. g ArEcee Rygsr
Qe cen)
B. Sied craciias |Il. g cfofer varge
C. um. oIgr Ill. a1rs<n @ § oY g e oIS 3ifol aref
D. vira ; ;\ngasawﬁmo Bel U 3Tl 3l swieiifda=t uel 5% diua

oiil fSu are fameal 3 A A8 3R gforue :

[Question ID =

6475][Question Description = S4_qSNz_PG_PLS_Q66]

1. A-1ll,B-1l,C-1,D-IV[Option ID = 25363]
2. A-1l,B-1ll,C-1,D- IV [Option ID = 25364]
3. A-IV,B-1ll, C-1l, D-1[Option ID = 25365]
4. A-1,B-1l,C-1V, D - Ill [Option ID = 25366]
67) Match List | with List Il
List | List Il

A. Howard Warrender

B. Edmund Burke

C. Mary Wollstonecraft

lll. Reflections on the Revolution in France

D. C. B. Macpherson

Choose the correct answer from the options given below:

et -l oot 3Eh -1l A Fgafera Hifsre :
et -1 et 11
. |. © Rifddoret siie ¢ A i ggiol : frer Reaart sifer

A. b

BAS ARsS? |, s g
B. usdis b ||l. g difeifeder 2013 sifw usifRia si3fisufersa : dis ¢ cdio
C. i lll. fewcraersat sifor g fdfcgret o1 wiT
[DITC
D. =M. IV. g diferfieaser fibeiieanbl sife 3fcat : 5 N sifw siifecerore
N . :

off<l feu are fpedl 3 A A8 3R gfore :

[Question ID =

1. A-1,B-1,C
2. A-1v,B-1l,
3. A-I,B-1I,C
4

6476][Question Description = S4_qSNz_PG_PLS_Q67]

- 1II, D - IV [Option ID = 25367]
C-1,D - Il [Option ID = 25368]
- 1II, D - IV [Option ID = 25369]

. A-1I,B-1l,C-1V,D-I[Option ID = 25370]

68) Match List | with List Il

IV. Small is Beautiful: A Study of Economics as if People Mattered

I. A Vindication of the Rights of Woman: with Strictures on Political and Moral Subjects
Il. The Political Theory of Possessive Individualism: Hobbes to Locke

IV. The Political Philosophy of Hobbes: His Theory of Obligation




List |

List Il

A. Gail Omvedt

I. Periyar: The Social Scientist

B. K. Veermani

Il. Periyar: Father of the Tamil Race

C. N. Velusamy

lll. Periyar and his Ideologies

D. M. D. Gopalakrishnan

IV. Dalit visions: The Anti Caste Movement and the Conduction of an Indian Identity|

Choose the correct answer from the options given below:

et -1 B e -1l A g e

e -1 et -1
A. dle sifardse || OfRIR : g Alere AEfe

B. ob. diafor 1. Of%IrR © wIe? siiw g afder 31

C. wor. dqzan@t  |lll. Afe Us Rt arsfaentist

D. w3 3% IV. sfera frsiee1 : g uedl dRe Fadloe US ¢ BICT9IGl 3B ol
STIUTCTaSUToT giSwrel smsstedt

oif<l feu are famedl 3 A A8 3R gfore :
[Question ID = 6477][Question Description = S4_qSNz_PG_PLS_Q68]

1. A-1,B-1l,C-Ill, D- IV [Option ID = 25371]

2. A-1ll,B-1,C-1l,D-IV[Option ID = 25372]

3. A-IV,B-1ll, C-1,D-1l[Option ID = 25373]

4. A-11,B-1,C-1V, D - Ill [Option ID = 25374]

69) Match List | with List Il

List | List Il
Conferences/Movements Year

A. Lake Success conference 1. 1992
B. Stockholm conference 1. 1972
C. Chipko movement 1. 1949
D. Rio-Earth conference IV. 1973

Choose the correct answer from the

el -1 @ 3 -1l 3 Fafera bifSie

options given below:

Rpet -1 et -l
(I13¥ctol / 3MicIcTol) (af)

A. I FTAA AFAcTol 1. 1992
B. *Cfmaian AFdctol 1. 1972
C. fraepl srigicror 1. 1949
D. f33if - 3ref Ja@9rciar V. 1973

oifl feu are famedl 3 A A8 3R gfore :

[Question ID = 6478][Question Description = S4_qSNz_PG_PLS_Q69]

1. A-1,B-1V,C-1l, D- Il [Option ID = 25375]

2. A-1l,B-1ll,C-1,D- IV [Option ID = 25376]

3. A-1ll,B-1I,C-1V,D-1[Option ID = 25377]

4. A-IV,B-1,C-1l,D- Il [Option ID = 25378]

70) Match List | with List Il

List | List 1l

A. A. G. Frank I. Glasnost

B. Karl W. Deutsch

Il. Systems Theory

C. Mikhail Gorbachev

Ill. Communication Theory

D. Morton Kaplan

IV. Dependency Theory

Choose the correct answer from the options given below:

It -1 ot gt -1 21 gifera difere ¢

Rorett -1 gl

A. u. Sil. B |. ¥gemdet (selrRIsiiRTe)

B. @Il Soc’y ST Il. gunrett Rigia (Rrear «a3t)

C. Rrarsa siafkdia Ill. @R Rigia (pifordoret e1dh)
D. sidor PITeiel IV. forlzan Rigia (Bu3c=il eify)

il f3u o1 fyscul 3 A A8 IR gfom :
[Question ID = 6479][Question Description = S4_qSNz_PG_PLS_Q70]

1. A

-1,B-11,C-1ll, D - IV [Option ID = 25379]



2. A-IV,B-1ll, C-1,D- Il [Option ID = 25380]
3. A-1Il,B-1V,C-1l,D-I[Option ID = 25381]
4. A-1l,B-1,C-1V,D-lll [Option ID = 25382]

71) Match List | with List Il

List | List Il

A. China |. Kalapani Dispute

B. Bangladesh Il. Galwan Incident

C. Pakistan Ill. Land Boundary Agreement
D. Nepal IV. Baglihar Hydro Project

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

Rt -1 =t -1l

A. <ior |. oremuredl faarg

B. daretr gor Il. sretaret &t areonn

C. urfepraret IIl. 91f3r >fiar Frarsiiar

D. orurer IV. qaféesr Siefdela ufRisoen

oif<l feu ore fpedl 3 A A8 3R gfore :

[Question ID = 6480][Question Description = S4_qSNz_PG_PLS_Q71]

A-1,B-1l,C-1l, D -1V [Option ID = 25383]
A-1Il,B-1Il,C-1V,D-1|[Option ID = 25384]
A-11,B-1ll,C-1V, D -1 [Option ID = 25385]
A-1l,B-1,C-1ll, D-IV[Option ID = 25386]

A W N -

72) Match List | with List I

List | List Il
A. 42" Amendment 1. 1978
B. 44th Amendment 1. 1963
C. 15th Amendment Ill. 1975
D. 38th Amendment IV. 1976

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 et -1l
A. 42 ai soneror 1. 1978
B. 44 ai sioerel Il. 1963
C. 15 ai sofierer . 1975
D. 38 ai zioNerer IV. 1976

offc feu oru fpedl 3 3 38l 3R gfore :

[Question ID = 6481][Question Description = S4_qSNz_PG_PLS_Q72]

A-11,B-1ll,C-1,D - IV [Option ID = 25387]
A-1l,B -1V, C-1ll,D- I [Option ID = 25388]
A-1V,B-1,C-1Il,D - lll [Option ID = 25389]
A-1,B-1I,C-1IV, D - Ill [Option ID = 25390]

A wWw N -

73) Match List | with List I

List |

List Il

The International Economic Institutions

Functions

A. International Monetary Fund

I. To provide loans to promote the growth of private enterprises in
developing countries.

B. International Finance Corporation

Il. To act as lender of last resort to keep debtor countries from
collapsing.

C. International Development Association

Ill. Encourages the flow of private equity to developing countries.

D. Multilateral Guarantee Agency

IV. Provides interest-free loans to the poorest countries.

Choose the correct answer from the options given below:

et -1 B e -1l A g@fea Hife

foxeht -1 et -1l




(sierefear anfefes
vizermor) (geort)

A. RIS gl || frpriofier Soil @ forsll epll @ fmrT @ gicnfdda ol &
SHY feTe SBUT Iucteel Wwudr 3

B. sicerce for [|l. spuft Soif ool foarfer glor A qaret @ fere sifenr spuicrar @
fororar ReU ¥ DI BT

C. siazredRa Ill. frpraohier Soil @I yrzde sadiél & yars @l Qicfdd o
[T e ()

;;i“‘“’ﬂ“m IV. 21eY oSt Soit Y RIS SBOT YeTer e 3

il feu o1u faasedl 3 A 8 3R gforu :

[Question ID = 6482][Question Description = S4_qSNz_PG_PLS_Q73]

1. A-1l,B-1,C-1ll, D- IV [Option ID = 25391]
2. A-11,B-1ll,C-1V, D - I [Option ID = 25392]
3. A-Il,B-1,C-1IV,D-Ill [Option ID = 25393]
4. A-1,B-1l,C-1ll, D- IV [Option ID = 25394]
74) Match List | with List Il

List | List Il

A. Frederick Taylor

I. Functions of the Executive

B. Peter Drucker

Il. Mental Revolution

C. Chester Bernard

1ll. Management by Objectives

D. Abraham Maslow

IV. Motivation

Choose the correct answer from the options given below:

et -1 B e -1l A g i

Rxeht -1 Ryt -l

A. Bsfrmear |. wagret 3w © oidsrayfea
B. dicz g2 Il. Jice feaicgeret

C. Ad3c2 Faals 11, Jiorstdic arRT sresiferes
D. sigizd AR IV. sifeagrer

oiil fSu are famedl 3 A A8 3R gfore :

[Question ID = 6483][Question Description = S4_qSNz_PG_PLS_Q74]

1
2. A-
3.
4

75) Match List | with List Il

. A-IV,B-1ll,C-1lI,D- 1| [Option ID =
I,B-11,C-1l,D - IV [Option ID =
A-1,B-1,C-1,D-IV[Option ID =
. A-1ll,B-1,C-1V,D- Il [Option ID =

25395]
25396]
25397]
25398]

List |

List Il

A. E-Governance

1. 7319 Amendment Act

B. Panchayati Raj

Il. NeGP

C. Redressal of Grievances

1ll. 2009

D. Right to Education

IV. Ombudsman

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

oxet -1 et -1l

A. € - sracica |. 73 ai Jioneret siffrforter
B. UarIcdl It Il. wor. €. Sh. o, (NeGP)
C. formrIdl @1 forarur 1ll. 2009

D. fdrem o1 siferpr V. sifsagrdiar

offc feu oru frpedl 3 A 18 3R gfore :

[Question ID = 6484][Question Description = S4_qSNz_PG_PLS_Q75]

76) Arrange the phases of evolution of Liberalism in ascending order

A. Positive Liberalism

B. Egalitarianism

1. A-1,B-1I,C-1ll, D- IV [Option ID =
2. A-11,B-1,C-1V, D - Ill [Option ID =
3. A-1Il,B-1V,C-1,D- Il [Option ID
4. A-1V,B-1ll,C-1lI,D -1 [Option ID

25399]
25400]

= 25401]
= 25402]




C. Negative Liberalism
D. Libertarianism

Choose the correct answer from the options given below

IoRAIc @ BRI TRl @I RISl G i wraf¥ea &ifse :

A. IPRICHD IcRAIG

B. sararaifear

C. SIPRICAD IGRAIG

D. Fcordq ac

il feu sru farsedl 3 2 A8 IR D1 WRIet B :

[Question ID = 6485][Question Description = S4_qSNz_PG_PLS_Q76]

B, C, D [Option ID = 25403]
C, A, B [Option ID = 25404]
, A, B, D [Option ID = 25405]
B, A, D [Option ID = 25406]

A w N =

)

77) Arrange chronologically, the texts of Plato in ascending order
A. Apology

B. Republic

C. Laws

D. Statesman

Choose the correct answer from the options given below

il @ forgatferiRad Jre1 urcl ol ARSI A d =raf¥ed Hifsie :

A. g (3rdicirslt)

B. s (Ruféera)

C. faf?r (cifer)

D. i

il fou s1u frapeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 6486][Question Description = S4_qSNz_PG_PLS_Q77]

B, A, C, D [Option ID = 25407]
B, D, C, A [Option ID = 25408]
. A, B, D, C [Option ID = 25409]
C, B, D, A [Option ID = 25410]

A WN -

)

78) Arrange the following in an ascending order
A. Civil disobedience movement by Gandhi

B. Non-Corporation movement by Gandhi

C. Satyagrah at Champaran by Gandhi

D. Establishment of Sabarmati Ashram

Choose the correct answer from the options given below

forgsiferRaa @ 3RIE wu # craf¥erd @3 :

A. s1ieht grR1 AfderRT srasi siicicrst

B. aiiell @rR1 srgsAor siicicrol

C. siftlt gRI TJIuRvI ARIERB

D. a3t smopar bt Temuetn

ofid o s1u faseal & A A8 IR BT WRI6l BT :

[Question ID = 6487][Question Description = S4_qSNz_PG_PLS_Q78]

1. D, C, B, A [Option ID = 25411]
2. A, B, C, D [Option ID = 25412]
3. D, A, B, C [Option ID = 25413]



4. C, D, A, B [Option ID = 25414]

79) Arrange in chronological order, the following constitutions in order of their year of framing
A. Constitution of Switzerland

B. Constitution of America

C. Constitution of India

D. Constitution of Canada

Choose the correct answer from the options given below

forgotferRaea iferencil ot Sord fortior ad & smen: uR drcrad 3 craf¥erd &3 ©
A. Ragsrds o1 faens

B. sifyor w1 Jifaemst

C. sira o1 Jfderot

D. @orrst 1 fdaemst

i) feu s1u faresedl 3 A A8 IR D1 WRIet B :

[Question ID = 6488][Question Description = S4_qSNz_PG_PLS_Q79]

A, B, C, D [Option ID = 25415]
B, A, D, C [Option ID = 25416]
C, B, D, A [Option ID = 25417]
D, A, C, B [Option ID = 25418]

H

)

A w N =

» Ry

80) Arrange the following international events in order of their occurrence
A. Bolshevik Revolution

B. Treaty of Versailles

C. Nazi-Germany Soviet Non-Aggression Pact

D. Lenin's 'Socialism in one country"

Choose the correct answer from the options given below

forgotfeIRad 3iazrctiRI TcolI3il I JoId IR D TJ A wraf¥era Bt :

A. dafae w@ifer

B. gufa & ifer

C. oirsht Sl - AfRIT siotrayvT Adsian

D. 'uw 91 & AR

il fou o1 fraseul 3 3 I IR BT TI6Tl HIfSIE :

[Question ID = 6489][Question Description = S4_qSNz_PG_PLS_Q80]

. A, C, D, B [Option ID = 25419]
. A, B, D, C [Option ID = 25420]
. B, D, C, A [Option ID = 25421]
. C, B, A, D [Option ID = 25422]

A W N -

81) Arrange the following events of Indian Foreign Policy in order of their occurrence
A. Lahore Bus Diplomacy

B. Look East Policy

C. Gujral Doctrine

D. Pokhran-Il Nuclear Explosion

Choose the correct answer from the options given below

aRdRI fagor shifer bt foraiferRad acorsil Bl Ioid> BIcras D IIGRIR cral¥erd HIf :
A. aER w1 Gfifer
B. gw $¥c ofifr

C. 3prra Rigia
D. drzvl |l ey frwie



offa feu sru faredl 3 2 A8 IR DI TRIel B :
[Question ID = 6490][Question Description = S4_qSNz_PG_PLS_Q81]

B, D, C [Option ID = 25423]
D, A, B [Option ID = 25424]
, C, B, A [Option ID = 25425]
C, D, A [Option ID = 25426]

A W N -

)

82) Arrange the formation of the following Indian states in a chronological order
A. Haryana

B. Telangana

C. Uttarakhand

D. Jharkhand

Choose the correct answer from the options given below

forgotferRaa sieiiRr ISRl DY IoIdD 31661 D BICTHAGRIR RIaf3erd Hifste :

A. sf=mon

B. dciemon

C. ImerEs

D. srwEs

i) feu s1u faresedl 3 A A8 IR D1 WRIet B :

[Question ID = 6491][Question Description = S4_qSNz_PG_PLS_Q82]

A, B, C, D [Option ID = 25427]
C, B, D, A [Option ID = 25428]
B, C, A, D [Option ID = 25429]
A, C, D, B [Option ID = 25430]

A wWw N =

83) Arrange the following administrative reforms Committees/Commissions in a chronological order
A. First Administrative Reform Commission

B. Gopalaswamy Ayyangar Committee

C. Gorwala Committee

D. Satish Chandra Committee

Choose the correct answer from the options given below

forgaiferRaa gemafora smenz ARIMCRI / IRIPIH Pl BICTHATGRIR RIAi-erd dhifste :
A. gerr yorRiford JER 3MRIeT

B. shurcreamtt srisr aAfifer

C. sirzaren Afdrfer

D. eior <ig Afdrfer

il fou o1 fraseul 3 3 A IR BT TI6Tl HIfSIE ©

[Question ID = 6492][Question Description = S4_qSNz_PG_PLS_Q83]

B, C, A, D [Option ID = 25431]
A, B, C, D [Option ID = 25432]
D, A, B, C [Option ID = 25433]
C, D, A, B [Option ID = 25434]

A W N -

)

84) Arrange the 'Evolutionary Phases of Public Administration’ in ascending order
A. Principles of Administration

B. Politics-Administration Dichotomy

C. Era of Challenge

D. Crisis of Identity

E. Public Policy Perspective

Choose the correct answer from the options given below



"I YIRTel @ fADRIIcHAD a=vil’ @Y IRIE @t i wrafera Hifsm :
A. gomrtal @& Rigia

B. rsr6iifer - gomeer fgsimser

C. goiidl @1 Jgor

D. usara @I ik

E. oo ofifer uyga

ofi féu a1 fameul 3 A A8l Iz DI aRIel HIfSIT

[Question ID = 6493][Question Description = S4_qSNz_PG_PLS_Q84]
A, B, C, D, E [Option ID = 25435]

B, A, C, D, E [Option ID = 25436]

C, A, B, E, D [Option ID = 25437]

D, B, E, A, C [Option ID = 25438]

A w N =

85) Arrange the following in the ascending order of their establishment
A. 14t Finance Commission of India

B. Union Public Service Commission

C. Central Vigilance Commission

D. NITI Aayog

Choose the correct answer from the options given below

forgotfcii¥aa I JoTcbl FemueiT @ AR RISI B I wraiFerd Hifse :

A. ara @1 14 ai & rReT

B. 3@ ciios Aar SRt

C. BERI AAPAT RIBT

D. sfifer smeiter

il fou s1u fRrapeul 3 A & IR BT a6l HIfSIE ©

[Question ID = 6494][Question Description = S4_qSNz_PG_PLS_Q85]

A, B, C, D [Option ID = 25439]
B, C, A, D [Option ID = 25440]
C, B, A, D [Option ID = 25441]
D, B, C, A [Option ID = 25442]

)

)

A WN -

» By

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Every thinker was a child of his age

Reason R: Mary Wollstonecraft argued in the Vindication of Rights of Woman that women should be entitled to the same
rights and privileges as men and should be given access to education

In light of the above statements, choose the most appropriate answer from the options given below

ofid <1 werol Ru s 3 ;. uop sifdrserot (A) & wu 3 feilRaa & a garr 3ad orvr (R) & wa 3 :

sifdrperea (A) @ gRI® AR 316t Je1 @I f919] arar 3

@RI (R) : 33} dicroragmue o a6l gras Risidore it wsced Sife garel’ 3 A oofiar &t o5 aAfemnsil ol ysa & 916 iR iz Jfdend
frerolt anfdu 3z 358 1811 Ygror &l el anfdw

SWRITP Pall D 3MIclid A, ofld f3u s1u fRypedl 3 A AR IuYTh IaR DI Tol HIdIU ©

[Question ID = 6495][Question Description = S4_qSNz_PG_PLS_Q86]

1. Both A and R are correct and R is the correct explanation of A/(A) siiz (R) areil 3@t 8 afiz (R), (A) &t 3 =me=n & [Option ID = 25443]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3z (R) cleil 3 & u3oq (R), (A) &I ad =en o1dt & [Option ID = 25444]
3. Aiis correct but R is not correct/(A) 3@ & cifdpet (R) 3t oidt & [Option ID = 25445]

4. Ais not correct but R is correct/(A) 3t siét 8 cifdpet (R) 2t 8 [Option ID = 25446]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The Mountbatten Plan was announced on May 13, 1947

Reason R: On July 18, 1947, the British Parliament ratified the Mountbatten Plan as the ‘Independence of India Act, 1947'



In light of the above statements, choose the correct answer from the options given below

ofid 3l werol e a1 3 ;. uop sifdrerct (A) & wu 3 fiRaa 3 @ gar1 3ud @Rl (R) & »ua 3 :

sifdrperet (A) : "#ISUCAI tetrol bl g@reomn 13 &#E, 1947 @i & orf of

®rRuI (R) : 18 Jarg, 1947 @1 [Jfeor e of ARBUCALHI tellol I 3iofdtelel 'HIRARI Faddqar sifeiforia 1947 & >u 3 foeen
SWRIP Pl @ 3Mrelld d, ofld 3w s1u Rrpedl 3 A AR IuY IR DI RIol HIRIT ©

[Question ID = 6496][Question Description = S4_qSNz_PG_PLS_Q87]

Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) cleil 38t 3 3z (R), (A) &t & wmen 8 [Option ID = 25447]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) gleil 3@t & uzeq (R), (A) &I 3 == ol 8 [Option ID = 25448]
. Ais true but R is false/(A) e 3 aifdber (R) 3Rt 3 [Option ID = 25449]

. Ais false but R is true/(A) sricx 3 aifcpar (R) =1 3 [Option ID = 25450]

A W N -

88) Given below are two statements
Statement I: Hobbes's theory of obligation is physical because the subjects obeyed the sovereign out of fear of punishment

Statement Il: Laws of Nature of Hobbes were not mere pieces of advice about the prudent pursuit of self-interest, but were
moral laws which dictated duties, and were obligatory because they were commanded by God

In light of the above statements, choose the most appropriate answer from the options given below

ofid <1 perer Ru sme 3 ¢

ool - | : 3fea o1 siffra Rigia omdif¥e 3 a=iifes gamr iyey &l sl o1 urelol €3 @ 32 A ol &

el - |l : 3fca & yopfer @ formar zafda & frdeyvui siopereer @& an 3 Acrs A ol &, afed A oifere formr & it Bl o1 fenst @ & iz
3 siforart & RIifte sAdY 3= S gRT & o1 ot

SWRIFP Poll D 3Mrelld #, ofld 8w 31w frpedl 3 A AR IuYTP IR DI TRIol HIFIT ©

[Question ID = 6497][Question Description = S4_qSNz_PG_PLS_Q88]

1. Both Statement | and Statement Il are correct/mepr | 3 |l Geil 2@t & [Option ID = 25451]

2. Both Statement | and Statement Il are incorrect/aermr | siiz || el stered & [Option ID = 25452]

3. Statement | is correct but Statement Il is incorrect/aerat | 3@t 8 , afdsor @werat |l siera @ [Option ID = 25453]
4. Statement | is incorrect but Statement Il is correct/wmeret | st & , fbog @eret || A8t 8 [Option ID = 25454]

89) Given below are two statements
Statement I: Social structure, values and attitudes have been impacted by the process of globalization
Statement II: Globalization has noticeably impacted cultural identity and social harmony among various social groups

In light of the above statements, choose the most appropriate answer from the options given below

ofid <1 Dot Ru sme 3 :

@l - | AR e, Iea 3R sif¥gferil dediavr &I gfkpn @Rt genfada g8 3

el - || : deediaszur 3 fafioor ArafSin Agl df Aizpiare usdre siiz Joid AARID Al @l Iecrsia U A yurfad fooar 3
JWRAD Pl D el 3, il fGu sre frpedl 3 A AR WD IR DI TRl DIfST :

[Question ID = 6498][Question Description = S4_qSNz_PG_PLS_Q89]

1. Both Statement | and Statement Il are correct/aeret | 3iiz || Gleil 31Et & [Option ID = 25455]

2. Both Statement | and Statement Il are incorrect/wmeret | 3ii || Sloil slera 8 [Option ID = 25456]

3. Statement | is correct but Statement Il is incorrect/wmeret | 3@t @ , aifeper weret |l srera 3 | [Option ID = 25457]
4. Statement | is incorrect but Statement Il is correct/@eml | srer & , cifebel wewet || 2 & [Option ID = 25458]

90) Given below are two statements

Statement I: The 2"4 Administrative Reforms Commission in its Seventh Report entitled "Capacity Building for Conflict
Resolution” dealt with illegal immigration into the North East and drew attention towards having a multi-purpose national

identity card for citizens

Statement II: Lokvani is a public-private partnership project at Sitapur District in Uttar Pradesh which was initiated in
December, 2009

In light of the above statements, choose the correct answer from the options given below

oI St weret fw a1 3 :

Dol - | : fodRn gormRafore JemR mRIeT of "ol @ AAIEIGT 3 ST forHivr” oIRIe 3rueil Aradi Rulé 3 gdlaR 3 srder sgdariel @I 3ccid
fop= 3 3iiR aIeIfeml @ fé1u a5 - 3T9RI ASERI Usdrel Ud Bl 3R &Arel eI 8



@l - |l : cliwanil savyger @ Hlaryz RKrel d Ardsifors - ol ARIGH ufRisen 3 BRI orssnd sz 2009 3 &I o ot
SWRIFP Dol D 3MIelld #, ofld 3w 31w frpedl 3 A AR IuYeP IR DI TRIol HIFIT ©
[Question ID = 6499][Question Description = S4_qSNz_PG_PLS_Q90]

Both Statement | and Statement Il are true/eret | 3z || Gloil 31=1 8 [Option ID = 25459]

Both Statement | and Statement Il are false/@ermr | 3iiz Il Sreif sricr & [Option ID = 25460]
Statement | is true but Statement Il is false/@erwr | 3 8, Afdor dweror || sricr 8 [Option ID = 25461]
Statement | is false but Statement Il is true/memwr | sRic & , fdbor weret || A & [Option ID = 25462]

A W N -

Topic:- 2 New Political Science SH2_B

1) Read the given passage and answer the questions that follow

In summary, an increasing readiness by the UN to intervene within states in order to promote internal justice for individuals
would indicate a movement towards global governance and away from unconditional sovereignty. There have been some
signs of movement in this direction, but principles of state sovereignty and non-intervention remain important. There is no
clear consensus on those points. There is still some support for the view that Article 2(7) of the UN Charter should be
interpreted strictly; that there can be no intervention within a state without the express consent of the government of that
state. This position is probably most frequently seen in the arguments favoured by the government of the People's Republic
of China. Others believe that intervention within a country to promote human rights is only justifiable on the basis of a
threat to international peace and security. Evidence of a threat to international peace and security could be the
appearance of significant numbers of refugees or the judgement that other states might intervene militarily. Some Liberals
argue that this condition is flexible enough to justify intervention to defend human rights whenever it seems prudent.
There is also some support for a stronger position. In September 1999, UN Secretary-General Kofi Annan declared that
individual sovereignty may be as important as national sovereignty.

forrarferRaa srerior ol ufgu 3z ofid fou 31w gesll & 3= SIS ©

ARII: APl @ fo1e Sy GARI D) dGHdr Sol D fre e s, I Il D iR gxaet Jol bl doedl acuzar Remerd ygyar A ez dffas
9IRTol bl 3117 313 6ol @I Add Sedl 3 3 fGon 3 3Pl dGol D @B IgIvT 83 33 T UReq, IS AYHAT 3R sreFagiu @ Rigia smfl off Asrayul 3
3ol fdgall U I$ FUTe 31 ABAKT o181 & b2 5 [TRIR D 1w o Hwelel & i Y wal a1és @ 3reese 2 (7) b Aéie aren &I Siofl aifde dbf
o2t 2o & Fuse sl & ol 3 IS A DI F3ALU I8l 31 ADAl & dioll ANBAIID SVRISA Bl FIDR FRI AAHT geficl I Faa: a6
ugl 3ifers arR - arR $@ar 3 ¢ ugl @I favara 3 6 aeraIf?ieRl ot gerar Sof & fore sl Jo1 @ ffar seasdiu siaarsdrr orifer siiz Jrem U=
HRT D AR TR 8l RIRRISIA 3 9RVITRRIT &b s1fere vz 1 16 fiforvR b s16=1 eI v 338U B2 AP 3, RIS onifer sfi e D
fere a3 @1 wga

BB CRAIE AB geflea 3 3 15 s ord crficht 3 afie ool 9t frdyut cee! Uz AreTaIf?ieR! &t 280 & foIT 38T B IRRISIA 58RI ST ABdAl
2 zomR uel @ fore off oo wmrelar & Ridar 1999 3 I vol & FeRIfIa BIbT 3feollol of A AU &I 5 RftpsTa AYAT 3ol & Israyyt at
Il 3 Il AsERT AYegar

On what basis is the UN ready to intervene in the matters of a state?

AP AT, fPA IMER UR IS D AEACT 3 538U Dol D fere acur 3 ?

[Question ID = 6500][Question Description = S4_qSNz_PG_PLS_Q91]
1. To end the conflict/iad @I 3 w0l @ ferw [Option ID = 25463]

2. To create international cooperation/ szl a=ier @ fere [Option ID = 25464]

3. To promote internal justice/sf¥® RIrr @t derar gof @ fere [Option ID = 25465]

4. To facilitate great powers/#sIol ofeball I Jfden Yarol Bl @ fere [Option ID = 25466]

2) Read the given passage and answer the questions that follow

In summary, an increasing readiness by the UN to intervene within states in order to promote internal justice for individuals
would indicate a movement towards global governance and away from unconditional sovereignty. There have been some
signs of movement in this direction, but principles of state sovereignty and non-intervention remain important. There is no
clear consensus on those points. There is still some support for the view that Article 2(7) of the UN Charter should be
interpreted strictly; that there can be no intervention within a state without the express consent of the government of that
state. This position is probably most frequently seen in the arguments favoured by the government of the People's Republic
of China. Others believe that intervention within a country to promote human rights is only justifiable on the basis of a
threat to international peace and security. Evidence of a threat to international peace and security could be the
appearance of significant numbers of refugees or the judgement that other states might intervene militarily. Some Liberals
argue that this condition is flexible enough to justify intervention to defend human rights whenever it seems prudent.
There is also some support for a stronger position. In September 1999, UN Secretary-General Kofi Annan declared that
individual sovereignty may be as important as national sovereignty.

forgotferRae sterior ool ufgu silz ofiar KU s1e gesil @ 34z difsme



ARIA: ARl B fe1Q Il RIRI DI SGIdI Sol B 1w IYep e, DI Il D 3fiaR Gxe Sol DI il acuar feord AYYdr A sea? difad
9IRTeT &l 3R 33T GGol DI AdDd Scil 3 5 Gom I 3Pl agol B T AgIvT 3 B T UReq) A AYRYAT 3R 3ETadiu & Rigia 3mfl oft Ascaygel &
sl figail uz B Fuce I3 AeAfer oidl 3 52 21 AR & fore o Aarefor 3 6 I vel aréz @ argrede 2 (7) &t Al s & sl aifde 6t
oot a5 i Fuce FsafT B e 3A ISA A DI 3FAYNU oidl A Al & dloll Albdifm SR bl IRDBR gRI AAfMA seflal # Haa: a6
uel Mfers R - R R@ar 3 g ugl o1 forar 3 oo AxafieR! ol gerar Sof @ fore et 391 & sfiae szagiu siaversd ornifer siiz Jeem U=
AR D AR U2 3l cARRIeI[ 3 IRV i 3ifern e a1 A1s fAfovf b 3161 A= 3UovT F3ASIU B2 ADd 8, ARSI 91ifer 3iiR IR D
fore 2l o1 g 3

@O ISRAIC A Seilel 5d & [ as 9rd crdicdl 3 3iiz @il s frdyvi ceTol UR AGIAIZIPRI DI 2811 @ 18 538U DI RIRRISIA G&RIT SII APl
3 zomR ugl @ for ot o wWwrelar & Ridar 1999 3 I vl @ Rl Dbl 3eollol of As A9l & fob RAftpsTa AYAT 3eall & Fsrayyt 8t
Al 3 Rraell AsERT AYyar

In the matter of state intervention, the UN should adhere to provisions related to which aspect?

I I BIALU D ARIC A IYD Asg, Dl foraaferRaa 3 A fepa usey A AdRia yraeiel @I srefurciol mell aIfde ?

[Question ID = 6501][Question Description = S4_qSNz_PG_PLS_Q92]
Domestic jurisdiction /@3¢ iR &1 [Option ID = 25467]

Social equality/zmenfSias Jermerar [Option ID = 25468]

Political independence /3w addgar [Option ID = 25469]

Economic cooperation/suféfes 3s=ier [Option ID = 25470]

A WN -

3) Read the given passage and answer the questions that follow

In summary, an increasing readiness by the UN to intervene within states in order to promote internal justice for individuals
would indicate a movement towards global governance and away from unconditional sovereignty. There have been some
signs of movement in this direction, but principles of state sovereignty and non-intervention remain important. There is no
clear consensus on those points. There is still some support for the view that Article 2(7) of the UN Charter should be
interpreted strictly; that there can be no intervention within a state without the express consent of the government of that
state. This position is probably most frequently seen in the arguments favoured by the government of the People's Republic
of China. Others believe that intervention within a country to promote human rights is only justifiable on the basis of a
threat to international peace and security. Evidence of a threat to international peace and security could be the
appearance of significant numbers of refugees or the judgement that other states might intervene militarily. Some Liberals
argue that this condition is flexible enough to justify intervention to defend human rights whenever it seems prudent.
There is also some support for a stronger position. In September 1999, UN Secretary-General Kofi Annan declared that
individual sovereignty may be as important as national sovereignty.

forsifeiRana srerior @l ufee siiz ofld Ru s1w geall @ 3= i :

ARII: PRIl D RR1e Sl RIRI @I Jemdr ol d o1 Y e, D Al D iar gxaet Jol bl el acurar Remerd ysgar A scar dffas
9IRTGT &l 3R 3T GGol I AdDd Scft 3 3 fSom I 3Pl agol D T cAgIvT 32 B T uzeq) A AT 3R 3ETady & Rigia 3l oft sscayget &
3ol Rigail uz I Fuce A AeA odlf 3 52 521 AR @ e o Adefor T P I vl aréz @ gl 2 (7) &t Adid s & sl aifde &t
fop2ft 2rsa & Fuse FsaAfkT & Yol 33 I A DI 33A8U o8l 3 Addr & diofl Albdifm svRIsT B IRDR FRI AAHA gelicl 3 FHaa: a6
gl 3ifere 9R - aR $Far 3 g ugl oI feart 3 o AcIaIiRioR] @ derar Sol @ féru fpil Sor @ sfidr s3asIu iR onifer 3iiR Jem R
AR D AR UR 8l cARRIPIA 8 IRV i 3ifern e A1 As fAfovia b 3161 A= UovT E3ASIU B2 AD 8, AR 91ifer 3ii= IR D
fere 2l @1 g 3

BB IGRAIC] AB cellel 3a 3 b s 9rd crediedt 3 3l @ofl ot frpyvi el Ur FeIaIiRieR] & 281 @ 10 33ALIU B RIRRISIA G6RI SII ADT
3 zomR ugl @ foe ofl o wrelar 3 Ridar 1999 3 I vol @ seRIfIa Dbl 3collol of As A9l &I fob RAftpsIa AYAT 3eoll & Israyyl 8

Al 3 el AR AYyar

Under what condition can the UN intervene in state affairs?
IR g, P 3MTEMR UR IS D AW 3 TAGNT B2 ADI & ?

[Question ID = 6502][Question Description = S4_qSNz_PG_PLS_Q93]

1. To establish democracy/eliadeq Pt zemuen g [Option ID = 25471]

2. To tackle problem of non-traditional threats/siz 3w 2Rl &1 wrRRn @& Wit @ e [Option ID = 25472]

3. On the basis of the express consent of the state's government/3rs1 3R®R &I Jute AsaAfd D 3merR w [Option ID = 25473]
4. On the recommendation of major powers/ygRa oifepeii &t Riwifser w2 [Option ID = 25474]

4) Read the given passage and answer the questions that follow

In summary, an increasing readiness by the UN to intervene within states in order to promote internal justice for individuals
would indicate a movement towards global governance and away from unconditional sovereignty. There have been some
signs of movement in this direction, but principles of state sovereignty and non-intervention remain important. There is no
clear consensus on those points. There is still some support for the view that Article 2(7) of the UN Charter should be
interpreted strictly; that there can be no intervention within a state without the express consent of the government of that
state. This position is probably most frequently seen in the arguments favoured by the government of the People's Republic



of China. Others believe that intervention within a country to promote human rights is only justifiable on the basis of a
threat to international peace and security. Evidence of a threat to international peace and security could be the
appearance of significant numbers of refugees or the judgement that other states might intervene militarily. Some Liberals
argue that this condition is flexible enough to justify intervention to defend human rights whenever it seems prudent.
There is also some support for a stronger position. In September 1999, UN Secretary-General Kofi Annan declared that
individual sovereignty may be as important as national sovereignty.

forgotferRac sterior ool ufeu siiz ofiar f&u s1e gesil & Iz difsie :

ARII: RRPRII @ R1e dRd GARI DI @I Sol D 1 b e, Dl Al D iR gxet Jol bl "ol acuzar Remnerd ysgar A ez dfas
9TRTGT &l 3R T3 GGol I AdDd Seft T 33 Gon I 3M1El dgal D BB cIgIvl 3 B T uReq, A AT 3H1= 3ETadiy @ Rigia snfl off sswagef &
ol fdigsll Uz dIg Fuce 3 A oidl 3 b2 3 R @ ferw @ AHdal & b Y vol arés @ siopeade 2 (7) bl Aéid e & siofl aifde &b
fep=it Irsa Dl Fuse sl D Y6l 3 IS A DI 33AU 181 3l ADAl & dioll AIDAIfD VRIS DI IRDR FRI AARMA geficll I JHad: T8
agl 3P R - IR $Fdar 3 g ugl @I [eart & & AIaIif PRI I geral Sol @ feru fep=il So1 @ sfiar sagiu siaRascl orifer 3z IR R
R D AR R 3 IRRIPI 3 9RuNfRIl &l siferes s a1 A6 fafowRn & e rse1 Io=a s3dagIu a2 ADd 3, iarecl gnfer siiz JRem &
fere zaes @1 Aga 3

BB CRAIE AB gefler 3 & 15 as ord ercficht 3 siie ool 9t frdygut coe! U AGTaIf2ieR! B 280 & e 38T B GARRISIA 56T ST ABAT
3 oM ugl @ foru off o wwelor 3 Rdar 1999 3 3 ol @ HAeRIRIA BB 3feolrel of As ANV &I &5 AftBeTa YT Sdorr & dewayyf at
Aol 3 fRraell AsdRr Agar

What is the general feeling among some sections regarding the basis of UN intervention?

YD AT, AT D FIAGU D MR D el F @ goll DI 3M1e Il a=T 3 ?

[Question ID = 6503][Question Description = S4_qSNz_PG_PLS_Q94]
1. Human Rights violations/ameraifeisRi @t 3ccieor [Option ID = 25475]

2. Economic failure/suféfe fwerar [Option ID = 25476]

3. Large scale violence/ss @ w f&ar [Option ID = 25477]

4. Problem of drug trafficking/siufél gefurz &1 2wren [Option ID = 25478]

5) Read the given passage and answer the questions that follow

In summary, an increasing readiness by the UN to intervene within states in order to promote internal justice for individuals
would indicate a movement towards global governance and away from unconditional sovereignty. There have been some
signs of movement in this direction, but principles of state sovereignty and non-intervention remain important. There is no
clear consensus on those points. There is still some support for the view that Article 2(7) of the UN Charter should be
interpreted strictly; that there can be no intervention within a state without the express consent of the government of that
state. This position is probably most frequently seen in the arguments favoured by the government of the People's Republic
of China. Others believe that intervention within a country to promote human rights is only justifiable on the basis of a
threat to international peace and security. Evidence of a threat to international peace and security could be the
appearance of significant numbers of refugees or the judgement that other states might intervene militarily. Some Liberals
argue that this condition is flexible enough to justify intervention to defend human rights whenever it seems prudent.
There is also some support for a stronger position. In September 1999, UN Secretary-General Kofi Annan declared that
individual sovereignty may be as important as national sovereignty.

forrarferRaa srerior ol ufgu 3z ofid fou 31w gesll & 3= SIS ©

ARI: APl @ fo1e Sy GARI D) dGHdr Sol d fre e e, Dl Il D iR gxaet Jol bl doedl acuzar Remerd yggar A ez dffas
9IRIol bl 3117 313 G0l @I Add Sedl 3 3 fGon A 311Pl 9Gol D @B cIgIvT 33 33 T UReq IS AYHAT 3R srEFagiu @ Rigia sl off Asvayul 3
3ol fdgall U IS FUte 311 ABANT o1dl & b2 5 [TRIR D fo1e o el 3 i Y wal a1éz @ 3reese 2 (7) b A aren &I Siofl aifde bf
o2t 2rsr B Fuse FgafT o el 3 IS A DI F3ALU I8l 31 ADAI & dioll ABAIfID SVRISA Bl FDR FRI AAMA geficll I Faa: 16
ugl 3iferd arR - ar 3war 3 g ugl @I favara 3 & aeraIffieRl ot aerar Sof & fore fapfl J91 @ sffar seasiu siazarsdir orifer siiz Jrem =R
TR D MR R 3 IRRIPI 3 9RuNfRI 6l sifere e a1 A faforfa 6 s II=e1 Io=a s3agIu a2 ADd 3, iareci gnfer iz JRem &
fere zaes @1 AT 3

BB CRAIE AB geflea 3 & 15 as ord ercficht 3 sfie ool 9t frd gt eoe! U ATaIf2ieR! & 280 D 1T 3ASIT B RIRRISIA 56RII ST ABAl
2 zomR uel @ fore off o wmrelar & Ridar 1999 3 I vol & sFeRIfIa BIbI 3feollol of As MY 6l 5 RfepsTa AYAT Iealr & Israyyt at
Il 3 oIl IsERT Agear

UN's new responsibility is to establish which kind of international system?

IRTP ATE, DI oI SIRI b YR bl RIS wIazer bl Femuelr m=«il 8 ?
[Question ID = 6504][Question Description = S4_qSNz_PG_PLS_Q95]



. More democratic UN/sifér cllapdifeia 3RJep g [Option ID = 25479]

. Provide global governance/df®a® omsiel yerel w2an [Option ID = 25480]

. Strengthening UN finances/2iJep g @ fara @l aisigea @2on [Option ID = 25481]
. Regulating the social sector/zmnfsidw & @ faforifia awem [Option ID = 25482]

A W N -

Topic:- 2 New Political Science SH2_C

1) Read the given passage and answer the questions that follow

Since the 1960s, dependency theory generalized from the Latin American experience, applying it to the rest of the world.
Wallerstein (1974, 1980, 1989) advocated his theory of a world economic system which consisted of concentric rings-the
‘core’ countries of the West, a 'semi-periphery’ and the 'periphery’-a differentiation made possible by history. The core
states industrialized first and acquired a decisive advantage over the rest of the world. Peripheral states are those that
cater to the needs of the core and are wilfully prevented from developing higher industrial skills. The semi-periphery is the
middle category of states that can move in either direction, and may include one-time core states that have lost their
states. The whole system reflects an international division of labour. A basic nature of this system is the transference of
surplus from the periphery to the core. P. P. Rey (1971, 1973), a French sociologist, added to the idea of dualism by
advancing a more refined notion of the 'articulation of modes of production’. He argued that underdevelopment in certain
areas of the world was largely due to the nature of indigenous society. In the West, feudalism led to capitalism because of
the attitude of the feudal upper class. In the rest of the world, which had not experienced European feudalism, the
integration of a society into the world economy through trade and investment results in a strengthening of the existing
governing classes, reinforcing their resistance to the extension of capitalism. Caporaso and Behrour (1981) stated:
‘dependency refers to a structural condition in which a healthy integrated system cannot complete its economic cycle
except by an exclusive (or limited) reliance on an external complement'.

forgotferRac sterior ol ug 3iiz ofia f3u s1g gesll & Iz & :

1960 @ gor A, cifeat @Iyl sropra A fonshear @ Rigia ol ARIRma o 321 I frra uR oF o srR - arereest (1974, 1980,
1989) oI v fra snffes wraven @ sruel Rigia ot gferaifea e sit Aidfoga acril - uflkEr & 'S’ Soil, v ‘sref - uf¥fer sie 'affer -
sleBr CRI 3iMd S6IRl 5K faaiéiazur @l onfdrel wdr 8 g A fera Sor ardye# siensfiad gg iz A fara uz g fervifam aed gra fasan
ufsefl s d & Sl dogla Soil Bl smaeaasdrsii ol Adee @ & IR fB168 Stlelggiad? 3ca 3iielfS1m agorerdrsil ol famrRT w0l A ADI Sl 3
‘stef - afefer’ arsa srea ot 3 sma 3 Sit foedl off foom of st ADA & 3 FoIdl A DoQ IsA oit onfdrer T, Rioalol aruoll dg s b Rrerfer = & &
YUl TGzl 9 D U RIS fepirstol ol gfeifdfdada ol 3 331 caazen &l Igea ygfa siferfe el o1 ufd?r &g A dogia A=l &bl 3R
BIAIRYI Doll & ULULY (1971, 1973), v Wil AABIIRT]] of 'Scurgsl B ATeroll DI AMMRATPDUT DI U Uf9fg FTENRUI DI 331 TGId
3 3A Saarc & far A Sist Joslel aw v &5 fra & oo Hiftaa &gl 3 srcafiaorT asi & erst warst B ygfl & BRuT sicafie on ufka
&, Al ST oot @ sif¥igl & DRUI ARidars of Yeiide ol Sioa fGar oy faea 3, el IRIURI ABIAIG DI 3efHd o18l fdvr o1, SR siie
foraer @& wAre1a A v AATST DI fod srefcrazren @ Hu 3 wblmzur @I ufyvna Aisier onf3ra 9ol @l #sIgd @ol, Ysilare @ fFar o ad
gfeRIer Bl ac1 ol @ U 3 31 DURRII 3R 98362 (198 1) of a1 3 : fonkar Jercas Reafe A Hdfda 3 Rrrl, daa oo ar@l AsRIAr U2
U 3ol (3rerar - Hifda) frart & o v Fave udbida cIaar U6l i aay DI G olél d2 Al

According to Wallerstein in the world economic system reflects:

-gareiR¥<Iol @ 3[R fira 3Nffce SIaz-e so1d1 A Dl Al razen ol waep @l & ?
[Question ID = 6505][Question Description = S4_qSNz_PG_PLS_Q96]

1. Unequal distribution of resources/3imersii @t 3Rt fdazur [Option ID = 25483]

2. Historically emergent inequalities/effeRie 3u 3 3rusel gt srEmeAR! [Option ID = 25484]
3. International division of labour/gp @1 siaRitclI fasisier [Option ID = 25485]

4. Nature of indigenous society/dorst 3wt bt ygfer [Option ID = 25486]

2) Read the given passage and answer the questions that follow

Since the 1960s, dependency theory generalized from the Latin American experience, applying it to the rest of the world.
Wallerstein (1974, 1980, 1989) advocated his theory of a world economic system which consisted of concentric rings-the
‘core’ countries of the West, a 'semi-periphery’' and the 'periphery’-a differentiation made possible by history. The core
states industrialized first and acquired a decisive advantage over the rest of the world. Peripheral states are those that
cater to the needs of the core and are wilfully prevented from developing higher industrial skills. The semi-periphery is the
middle category of states that can move in either direction, and may include one-time core states that have lost their
states. The whole system reflects an international division of labour. A basic nature of this system is the transference of
surplus from the periphery to the core. P. P. Rey (1971, 1973), a French sociologist, added to the idea of dualism by
advancing a more refined notion of the ‘articulation of modes of production'. He argued that underdevelopment in certain
areas of the world was largely due to the nature of indigenous society. In the West, feudalism led to capitalism because of
the attitude of the feudal upper class. In the rest of the world, which had not experienced European feudalism, the
integration of a society into the world economy through trade and investment results in a strengthening of the existing
governing classes, reinforcing their resistance to the extension of capitalism. Caporaso and Behrour (1981) stated:
‘dependency refers to a structural condition in which a healthy integrated system cannot complete its economic cycle
except by an exclusive (or limited) reliance on an external complement'.



forgotferRac sterior ol ug 3iiz ofia f3u s1g gesll & Jaz & :

1960 @ gor A, cifea 3R] sropia A fonshar @ Rigia ol ARIRIma oD 331 I frra uR oF o srR - arerReest (1974, 1980,
1989) oI v fra snffes wraven @ sruel Rigia ot gferaifea e Sit Aidfoga acril - R & 'S’ Soil, v ‘sref - ufdfer sie 'affer -
sleera g1 3iHd S61R SR faaiéiazur @l enfdrel wdr 8 g A rera Sor adye# siensfiad gu siiz v fara uz g fervifam sed gra fasan
uf¥efiRn s d 3 Sl dogRRa SoIl b siragaddrsii @l Idee @ 3 31 B168 Sieigzian? 3o 3iielidrm aereldisii oI famRI del A ADI SIdr 3
‘sref - affer’ arsa s yuft 3 ama 3 Sit =il off fSom of S ADA B 3 Fold A DoQ WA 3it onfdrer T, Rioalol aruoll dg s b Rrerfer = & &
Ayuf crazen 9 @ Ud iaritdlr fsirsior ot yfafafiaa wadl ¥ 51 caaven &1 Iz ygfe siferfees el o1 ufiflr §iq A dodla sl & el
B¥AIRYI ®ell 3 UL (1971, 1973), ves wiAlRil AASIANRS of ‘Icurger @ Arerll oI ifdcaftbdvr Bl s ufdglg JIaenum ol 36l dGId
3 3A Saarc d R A Siist Joslel aw e 5 fra & o Hiftaa &gl 3 srcafiaorT asi & Serst At B ygfa & BRuT sicafie on  ufksr
&, Al ST oot o SI¥igll & DRUI ARIAArS of Yeiide ©f Sioa fGar g faea 3, Srtol JRIURI ABIAAIG DI 3efyd o1sl fdbr o1, SR siie
foraer @ Are1a A v AAISI @I faod srefcaazren @ Hu 3 wdblmzur @I ufyvna Hisier onf3ta aolf ol #sIgd B!, Ysilare @ fFar o od
gfeRIer Bl act ol @ U 3 31 DURRII 3R 98362 (198 1) of a1 3 : foriar iaercas Reafe A Hdfda 3 RrrEl, daa oo a@r AsRIAar U2
TP 3f6lodl (3rerar - 2Hifdra) frart & o v Fave udblaga cuazar 3ruel fias aay ®I G3I ofél B2 Adl

Who gave the concept of ‘semi-periphery’ in dependency theory?
forsizar Rrgier 3 'sief - uf¥f?r’ &I srasmeon ot fosare f3ar ?

[Question ID = 6506][Question Description = S4_qSNz_PG_PLS_Q97]
1. A. G. Frank/u. sft. '@ [Option ID = 25487]

2. Samir Amin/J@iz spfler [Option ID = 25488]

3. Immanuel Wallerstein/sdiedet arerzeat [Option ID = 25489]

4. Raul Prebisch/3=a gfat [Option ID = 25490]

3) Read the given passage and answer the questions that follow

Since the 1960s, dependency theory generalized from the Latin American experience, applying it to the rest of the world.
Wallerstein (1974, 1980, 1989) advocated his theory of a world economic system which consisted of concentric rings-the
‘core’ countries of the West, a 'semi-periphery’' and the 'periphery’-a differentiation made possible by history. The core
states industrialized first and acquired a decisive advantage over the rest of the world. Peripheral states are those that
cater to the needs of the core and are wilfully prevented from developing higher industrial skills. The semi-periphery is the
middle category of states that can move in either direction, and may include one-time core states that have lost their
states. The whole system reflects an international division of labour. A basic nature of this system is the transference of
surplus from the periphery to the core. P. P. Rey (1971, 1973), a French sociologist, added to the idea of dualism by
advancing a more refined notion of the 'articulation of modes of production'. He argued that underdevelopment in certain
areas of the world was largely due to the nature of indigenous society. In the West, feudalism led to capitalism because of
the attitude of the feudal upper class. In the rest of the world, which had not experienced European feudalism, the
integration of a society into the world economy through trade and investment results in a strengthening of the existing
governing classes, reinforcing their resistance to the extension of capitalism. Caporaso and Behrour (1981) stated:
‘dependency refers to a structural condition in which a healthy integrated system cannot complete its economic cycle
except by an exclusive (or limited) reliance on an external complement'.

forgotferRae sterior ol ug 3iiz ofia f3u s1e gesll & 3a & :

1960 @& cor A, cifest @YD siopra A onlar & Rigia o1 ARIciiaga o 23 9 fard u? aP] fear srn arerzea (1974, 1980,
1989) o v fra snfYfes wraven @ smuel Rigia ot gferaifea e Sit Fidfoga acril - ufkEr & 'S’ Sofl, v ‘sref - uf¥fer sie 'af¥fer -
sIBRT BRI A FoIRI SRI [ANSI2uT @ 9nfdrel wer & g 1 Rrera Sor rdyeE siieieiiad gu ik 9 fira R v forvikie aed grd foan
uf¥efiRr s d 3 St doglRa Soil b siragaddrsii @l Idee @ 3 3R B168 Sieiggian? 3o 3iielidrm aererdisil oI famRT mel A ADI Sl 3
‘sref - afefer arsa srea Yot 3 A 3 Sit fpedl off feom 3 ST AW & 3l so1d A Do sy oit onfdrer E, Rrosiol sruoll dg s &f Rrafer = & ar
JAqul wRrazer ot @ v siaried fnimstel ! gfefafdaa ol 3 531 caaren & Iz ygiea sifeifs el o1 ufefer §iq 1 dodla sl 6l 3
B3AIRYI ®oll 3 UL (1971, 1973), v wiARll AASIARS of 'Scurcel @ Arewll oI AfRIftbdvT DI tp ufdglg eI Pl 313l dGId
A 3A Faarc d AR A Sis1 Joslel aw s 5 fra & oo Hifta &gl 3 srcafdorT asi & Serst warst B ygfil & BRUT sicIfie on a2
&, Al ST oot @ SIf¥gil & DRUI ARIAarS of Gefide ©f Soa fGar g faea 3, Sretol JRIURT ARG ©T 3l olst fava eI, SR 3iiz
OTI91 @ ATERASA A TP HATSl DI g sreferazen @ U 3 uhblap=ul BT ufevna Hisigl onird aell @l #slgd oI, Yslldic @ R @ 3ol
gfeRIer @l &cl 3ol D U 3 g3 DURRI 3R I632 (1981) o a1 3 : fonlean Jvacicae Rafer 2 dfe@ 3 Brwl, dac v arer FsrIar uz
U 3fole (3rerar - M) frart @ Yo v Favd udblma wrazan sruol nffe aaq @ YI oidl o Al

'Articulation of mode of production’ explains

‘JcuIcel d Alekoll @I AfNRIRbaT &t sraenun sordl A fbad! e wxdl 3?7
[Question ID = 6507][Question Description = S4_qSNz_PG_PLS_Q98]



Emergence of the semi-periphery/sref ufsfer 6t 3cufer [Option ID = 25491]

Passage from feudalism to capitalism in the West/uf2r 3t 3miaars 3 gsftars @1 agerra [Option ID = 25492]
Loss of states of countries in the core/@g 3 Rer Sl @1 ameit RFerfer @1 e [Option ID = 25493]
Under-development in certain areas of the world/fea @& @@ Seil 31 srcufdmrr 6t RBerfer [Option ID = 25494]

A W N -

4) Read the given passage and answer the questions that follow

Since the 1960s, dependency theory generalized from the Latin American experience, applying it to the rest of the world.
Wallerstein (1974, 1980, 1989) advocated his theory of a world economic system which consisted of concentric rings-the
‘core’ countries of the West, a 'semi-periphery’' and the 'periphery’-a differentiation made possible by history. The core
states industrialized first and acquired a decisive advantage over the rest of the world. Peripheral states are those that
cater to the needs of the core and are wilfully prevented from developing higher industrial skills. The semi-periphery is the
middle category of states that can move in either direction, and may include one-time core states that have lost their
states. The whole system reflects an international division of labour. A basic nature of this system is the transference of
surplus from the periphery to the core. P. P. Rey (1971, 1973), a French sociologist, added to the idea of dualism by
advancing a more refined notion of the 'articulation of modes of production’. He argued that underdevelopment in certain
areas of the world was largely due to the nature of indigenous society. In the West, feudalism led to capitalism because of
the attitude of the feudal upper class. In the rest of the world, which had not experienced European feudalism, the
integration of a society into the world economy through trade and investment results in a strengthening of the existing
governing classes, reinforcing their resistance to the extension of capitalism. Caporaso and Behrour (1981) stated:
‘dependency refers to a structural condition in which a healthy integrated system cannot complete its economic cycle
except by an exclusive (or limited) reliance on an external complement'.

forgotferfaa srerior @I ug il ofia fou s1e Yool D IR S ¢

1960 @ gorp A, cdifeat @YD sropra A fonkar & Rigia o AEciiaga o 31 9 fara u? «ey e sk arerzea (1974, 1980,
1989) o vas fra snf¥fas craven @ sruel Rigia ot gferaifea v Sit Fidfoga acril - ufEr o 'dogar’ Soil, v ‘sref - ufdfer sie 'affer -
SIIBRT GRI WA FoIRI SRI fANSTDUT Bl INfdreT D 8 g A RFrera o1 Adyeer siieleliaa gu 3R 99 fira ur v foviae sed yra [oar
uf¥efiRr s d 3 Sl dogiRa SoIl bl siragadmdrsii ol Adee ®d 3 3l B16d Sietggian? 3o 3iielidrd aereldisil oI famRT mel A ADI Sl 3
‘sref - afefer’ arser se=r oot 3 s B i b=t oft fEom 3 S B T 3R Sordt A DodkI IS oft onfdret 3, Rroalol uetl g s &t Rerfer @ & ar
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The integration of non-European countries in the world economy results in

312 uf2peil Son &I faea snffe craven A onfdrer o @1 sordl A dlerar ufviar axar 3 ?

[Question ID = 6508][Question Description = S4_qSNz_PG_PLS_Q99]

Strengthening their resistance to expansion of capitalism/3cret ysitare & faedre @1 faRter @2or 6t gwiar agon [Option ID = 25495]
Weakening of the ruling elite/smfiee asf @1 gdet dlonr [Option ID = 25496]

Strengthening of feudalism/ameiaarg @1 Jes alor [Option ID = 25497]

Stregthening of the semi-periphery/aref uf¥fer @1 asIga ater [Option ID = 25498]

AN wN -

5) Read the given passage and answer the questions that follow

Since the 1960s, dependency theory generalized from the Latin American experience, applying it to the rest of the world.
Wallerstein (1974, 1980, 1989) advocated his theory of a world economic system which consisted of concentric rings-the
‘core’ countries of the West, a 'semi-periphery’ and the 'periphery’-a differentiation made possible by history. The core
states industrialized first and acquired a decisive advantage over the rest of the world. Peripheral states are those that
cater to the needs of the core and are wilfully prevented from developing higher industrial skills. The semi-periphery is the
middle category of states that can move in either direction, and may include one-time core states that have lost their
states. The whole system reflects an international division of labour. A basic nature of this system is the transference of
surplus from the periphery to the core. P. P. Rey (1971, 1973), a French sociologist, added to the idea of dualism by
advancing a more refined notion of the ‘articulation of modes of production'. He argued that underdevelopment in certain
areas of the world was largely due to the nature of indigenous society. In the West, feudalism led to capitalism because of
the attitude of the feudal upper class. In the rest of the world, which had not experienced European feudalism, the
integration of a society into the world economy through trade and investment results in a strengthening of the existing
governing classes, reinforcing their resistance to the extension of capitalism. Caporaso and Behrour (1981) stated:
‘dependency refers to a structural condition in which a healthy integrated system cannot complete its economic cycle
except by an exclusive (or limited) reliance on an external complement'.
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Dependency as an integrated system relies on:
U ublpd wIaver @ 34 3 fonlear @ R, so1dl 3 dlat 51531 8 ?

[Question ID = 6509][Question Description = S4_qSNz_PG_PLS_Q100]
1. Historical factors/uft@Re ora [Option ID = 25499]

2. External contributory factors/arer @ereeert wre [Option 1D = 25500]

3. Internal milieu/smdf¥@ ufsefer [Option ID = 25501]

4. Regional condition/gxdrer RBerfer [Option ID = 25502]






